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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
The following table shows the percentage of marks obtained by six different students in six different
subjects A-F of MCA programme in a University, alongwith the maximum marks in each subject
(shown in brackets). Based on the data in the table, answer the questions that follow.
Student-wise Percentage of Marks in Six Subjects

Subjects (Maximum Marks)
A (150) | B (100) | C(150) | D (125) | E(75) | F(50)
Anil | 66% | 75% | 88% | 56% | 56% | 90%
Arman | 82% | 76% | 84% | 96% | 92% | 8%
Arpit | 76% | 66% | 78% | 88% | 72% | 70%
Gaurav| 90% | 8% | 96% | 76% | 84% | 86%
Gurjit | 64% | 70% | 68% | 72% | 68% | 74%
Priva | 48% | 56% | 50% | o64% | 64% | 58%

Students

Sub questions



Question Number : 1 Question Id : 87827039978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

How many marks did Anil get in all the six subjects together ?

(1) 369
(2) 463
(3) 558
(4) 496

Options :

878270157041. 1
878270157042. 2
878270157043. 3

878270157044. 4

Question Number : 2 Question Id : 87827039979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Total marks obtained in all the six subjects together is more than 490 by exactly students.
(1) two

2
3

4

(2) three

(3) four

(4) five
Options :
878270157045. 1
878270157046. 2
878270157047. 3

878270157048. 4

Question Number : 3 Question Id : 87827039980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

If M and N represent the average marks obtained by all the six students together in subjects C and
E, respectively, then (M, N) =

(1) (112, 56.5)
(2) (114, 55)

(3) (115, 56)

(4) (116, 54.5)
Options :

878270157049. 1
878270157050. 2
878270157051. 3

878270157052. 4

Question Number : 4 Question Id : 87827039981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

together. (rounded off to two digits after decimal)
() 27.35

Marks obtained by Gauravare % more than that of Gurjit in all the six subjects

(2) 2452
(3) 29.45
(4) 2815
Options :

878270157053. 1
878270157054. 2
878270157055. 3

878270157056. 4

Question Number : 5 Question Id : 87827039982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the different between the average marks obtained in subjects A and E by all the six students
together ?

(1) 48

(2) 50

@3) 52

g

Options:

=y

878270157057. 1
878270157058. 2
878270157059. 3
878270157060. 4

Question Id : 87827039977 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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A (150) | B(100) | C(150) | D(125) | E(75) | F(50)
g | 6% | B% | 8% | 56% | 56% | 90%
aoH | 82% | 7% | 8% | 96% | 92% | 88%
afm | 76% | 66% | 78% | 88% | 7% | 70%
ic 90% | 8% | %% | 76% | 84% | 86%
T | 6% | 0% | 68% | T2% | 68% | 74%
fir 48% | 56% | 50% | 64% | 64% | 58%

Sub questions



Question Number : 1 Question Id : 87827039978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
g+t 3% faudi F1 T Ty fHere e &1 faad 3 fae ?

(1) 369
(2) 463
(3) 558
(4) 496
Options :

878270157041. 1
878270157042. 2
878270157043. 3

878270157044. 4

Question Number : 2 Question Id : 87827039979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

it 9% formt o e for 0 it o) o e foreet S fae fermfelan 01490 % arfier o et 82

Options :

878270157045. 1
878270157046. 2
878270157047. 3

878270157048. 4



Question Number : 3 Question Id : 87827039980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e M SN, F99: C A, fort & wvit e foranfefdt gro oo v foreramt w7t o 110 ol & i =
TEFIEAMN=_ |

1) (112, 565)

(2) (114,55
(3) (115, 55
(4) (116, 545)
Options :
878270157049. 1
878270157050. 2
878270157051. 3

878270157052. 4

Question Number : 4 Question Id : 87827039981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ol B% forl 1 O WY TR TG g 9 o TS AR A SR A g W %
fv 1 (cera o T & i A ol fo T )
(1) 27.35
(2) 2452
(3) 2945
(&) 2815
Options :
878270157053. 1
878270157054. 2
878270157055. 3

878270157056. 4



Question Number : 5 Question Id : 87827039982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

a5t e forenfeldl ot e T fetet A oiR B fomal & o of & ofvga & weg o o 7

(1) 48
(2) 50
(3) 52
(4) 54
Options :

878270157057. 1
878270157058. 2
878270157059. 3

878270157060. 4

Sub-Section Number : 2
Sub-Section Id : 8782701678
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827039983 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following types of assessments would be most beneficial for assessing a student’s
ability to debate ?

(1) Formative Assessment

(2
&
(

Summative Assessment

s

4

) Ipsative Assessment
) Performance Assessment

Options :
878270157061. 1

878270157062. 2



878270157063. 3

878270157064. 4

Question Number : 6 Question Id : 87827039983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
oo 1 et o 9 R a1 e ferrfe o are-fore e A o e F % fa
ol TR ¢/
(1) TR T

Options :

878270157061. 1
878270157062. 2
878270157063. 3

878270157064. 4

Question Number : 7 Question Id : 87827039984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  Edmodo (online tool) helps teachers to stay in touch with parents, share updates
and discuss student progress.

Statement II:  Duolingo is a online language learning platform.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270157065. 1

878270157066. 2

878270157067. 3

878270157068. 4

Question Number : 7 Question Id : 87827039984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157065. 1

878270157066. 2



878270157067. 3
878270157068. 4

Question Number : 8 Question Id : 87827039985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In self-directed learning, metacognitive knowledge includes :
(A) Contextual knowledge

(B) Factual knowledge

(C) Procedural knowledge

(D) Technological knowledge

(E) Practical knowledge

Choose the correct answer from the options given below :

(1) (A), (D) and (E) Only

(2) (C) and (D) Only
(3) (A), (B) and (C) Only
(4) (B) and (D) Only

Options :

878270157069. 1
878270157070. 2
878270157071.3

878270157072. 4

Question Number : 8 Question Id : 87827039985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



- fdfera siferm # sifergamreTs 99 o Aifed €
(A) Haulcas 1

(B) ATHF TH

(C) R s I

(D) HwEfTeR 34

(E) oI I

9 feu o fosredi # | W& SO FGH Hif
() e (A), (D) 3T (E)

(2) 9 (C) 3R (D)
(3) %A (A), (B) 3R (C)
(4) 9 (B) 3R (D)
Options :

8782701570609. 1
878270157070. 2
878270157071. 3
878270157072. 4

Question Number : 9 Question Id : 87827039986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which learning sl}fle mvolves the extent to which students approach leamjng materials in a way
that helps them understand the meaning of the materials :

(1)  Surface styles
(2) Impulsivestyles
(3)  Deep styles

(4)  Reflective styles

=y

Options :
878270157073. 1
878270157074. 2

878270157075. 3



878270157076. 4

Question Number : 9 Question Id : 87827039986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
form o $eft # 7 Wi € o fornel o v e e et o o a4 eEa € R 9W ®
T 1 oAl g H e e €7
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2
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Options :
878270157073. 1
878270157074. 2
878270157075. 3

878270157076. 4

Question Number : 10 Question Id : 87827039987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"When competent readers encounter new sentences in their native language, they read them
automatically” is an example of learning ?

(I) High-road transfer

2

Near transter

}

2
(3) Low-road transfer
(4) Far transfer
Options :
878270157077. 1

878270157078. 2



878270157079. 3

878270157080. 4

Question Number : 10 Question Id : 87827039987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157077. 1
878270157078. 2
878270157079. 3

878270157080. 4

Question Number : 11 Question Id : 87827039988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Identify the software used for detecting plagiarism :
(A) Mendley

(B) Turnitin

(C) Compiler

(D) Ithenticate

Choose the correct answer from the options given below :
(I) (A) and (B) Only

() (A), (B) and (C) Only

(3) (A), (B) and (D) Only

(4) (B) and (D) Only

Options:

878270157081. 1

878270157082. 2

878270157083. 3

878270157084. 4

Question Number : 11 Question Id : 87827039988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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)
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(4)
Options :

878270157081. 1



878270157082. 2
878270157083. 3

878270157084. 4

Question Number : 12 Question Id : 87827039989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following approaches to the analysis of content is based on the study of signs ?
(1) Semiotics

@)

(3) Content Analysis
)

Ethnography

Quantitative Research

Options :

878270157085. 1
878270157086. 2
878270157087. 3
878270157088. 4

Question Number : 12 Question Id : 87827039989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:
878270157085. 1

878270157086. 2



878270157087. 3

878270157088. 4

Question Number : 13 Question Id : 87827039990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in correct sequence according to APA style of referencing :
(A) Title of the research article

(B) Year of publication

(C) Name of journal

(D) Name of anthor

Choose the correct answer from the options given below :

(1) (@A) ), (©) D)

@ (&) (©) D) (B)
() @) (A)(©) B
(4 @) (B) (4) ©

Options :

878270157089. 1
878270157090. 2
878270157091. 3

878270157092. 4

Question Number : 13 Question Id : 87827039990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157089. 1
878270157090. 2
878270157091. 3

878270157092. 4

Question Number : 14 Question Id : 87827039991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It you wish to test whether p[)pulation mean 1 lower than some h}fpnthesized value, you would

apply :

(1) one-tailed test

(2) two-tailed test

(3) half-tailed test

(4)  three-tailed test

Options :

878270157093. 1

878270157094, 2

878270157095. 3

878270157096. 4



Question Number : 14 Question Id : 87827039991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 1 78 W T e & o a0 SHeers e, Teresios M 8 w9 8 @ o feffe o
T {9 T 1 W F?

Options :

878270157093. 1
878270157094. 2
878270157095. 3

878270157096. 4

Question Number : 15 Question Id : 87827039992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “ante” used inacademic
writing ?
(1) anonymous

(2) before
(3) after
g

s |

4) and others
Options :
878270157097. 1
878270157098. 2
878270157099. 3

878270157100. 4



Question Number : 15 Question Id : 87827039992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬂhﬁ@an@ﬁwmmﬁw@ﬂﬂw‘qﬁ’ (ante) Hi4fE & 319 91 e vfaffme
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Options :

878270157097. 1
878270157098. 2
878270157099. 3

878270157100. 4

Question Number : 16 Question Id : 87827039993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

All forms of communication are evaluated in relation to :
(1) Face to face communication

(2) Radio transmission

(3) Television entertainment
(4) Internet usage

Options :

878270157101. 1
878270157102. 2
878270157103. 3

878270157104. 4



Question Number : 16 Question Id : 87827039993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[l YR % FRIU o Hodich feread W 8 forger gey | foran s ¢ ?
(1) T

(2) fed yERy

(3) TEIA HARSH

(4) T W ITE
Options :

878270157101. 1
878270157102. 2
878270157103. 3

878270157104. 4

Question Number : 17 Question Id : 87827039994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the fs:)llnwing media is often described as ‘one da}r best seller’ ?

(1) Radio

(2) Internet
(3) Novel
(4) Newspaper

Options :

878270157105. 1
878270157106. 2
878270157107.3

878270157108. 4

Question Number : 17 Question Id : 87827039994 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fr=fafas § @ g dfea & seam w3 ‘o fo7 &1 5w fogpa’ & &0 W fen S 82

(1) e
() TR
(3) S9H
(4) HHER
Options :

878270157105. 1
878270157106. 2
878270157107. 3

878270157108. 4

Question Number : 18 Question Id : 87827039995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Greek rhetorical communication Emphasised on the elements of :

Delayed feedback

B) Lower class language

D) Ethos
E) Pathos

Choose the correct answer from the options given below :

(
(
(C) Logos
(
(

() (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (A), (B) and (D) Only
4) (©), (D) and (E) Only

Options:
878270157109. 1

878270157110. 2



878270157111. 3

878270157112. 4

Question Number : 18 Question Id : 87827039995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT SrRTZargul Yol H foRe qeell 9wl T s o ?
(A) Taafaed gfaqfee (feere wieds)

(B) =1 =i =1 v

(C) W (T

(D) =R (Eo7H)

(E) h&W W (U9i9)

1 feu T fasredi § € W@ SO #1999 FN

(1) %9 (A), (B) 3R (C)
(2) %99 (B), (C) ¥R (D)
(3) &F9A (A), (B) IR (D)
(4) 9 (C), (D) ¥R (E)

Options :

878270157109. 1
878270157110. 2
878270157111.3

878270157112. 4

Question Number : 19 Question Id : 87827039996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : ~ When passive defence systems are encouraged, a defensive response will resist
attitudinal change, if we apply the inoculation theory of communication.

Statement I1; A strong dose of argument will strengthen the receiver’'s immune system.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270157113. 1

878270157114. 2

878270157115. 3

878270157116. 4

Question Number : 19 Question Id : 87827039996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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o St vRae 1 A

R (1) : T T B A o S el S g |

I Fo o e, 3 fow T ot B ¥ Wl S T i

(1) U1 BRI TR

() FRIMFW T 999 ¢

(3) R L H ¢, ©ifé o 11 97 2

(4) IR A ¢, T BT ©

Options :

878270157113. 1

878270157114. 2



878270157115. 3

878270157116. 4

Question Number : 20 Question Id : 87827039997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Through feedback, students can later critique their own communication
competence outside the classroom.

Statement II:  Motivational orientation towards communication should be identified by teachers
to better the communication competence of the students.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270157117. 1

878270157118. 2

878270157119. 3

878270157120. 4

Question Number : 20 Question Id : 87827039997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



FIﬁaWﬁ'QﬂT{%‘:
TR (1): Vel (Treas) & meam g, 3 o W e W AT S O ) e 1 T g
el

T (1) e gm0 w9Tm % oo aHfirRomers sfvweEm #1 wan # 9 ak afE om 5
Y 47 oF B

TG o & e H, A fou T foeredt # 4 W S T A

(1) RIS BRI T2

() FRIIMFWI T 959 ¢

(3) 1 HA ¢, Cifé e 11 997 2

(4) U1 H &, A FAHA &

Options:

878270157117.1
878270157118. 2
878270157119. 3

878270157120. 4

Question Number : 21 Question Id : 87827039998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A person travels 365 km in 8 hours in two stages. In the first part of the journey, he travels by bus
at the speed of 40 km/hour and in the second part of the joumey, he travels by train at the speed
of 55 km/hour. How much distance did he travel by train ?

) 165 km
) 170 km
) 200 km
) 164 km

Options :
878270157121. 1
878270157122. 2

878270157123. 3



878270157124. 4

Question Number : 21 Question Id : 87827039998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T el <) 000 § Wi W 365 ot o A0 T € | U S A i 40 TR/ R T § 9 g
7 0 € 70 T 1 G o g 55 R A i A A A R | 3 A g Fre A
(1) 165 fot

2) 170 fereit
3) 200 foret

4) 164 ferri
Options :
878270157121. 1
878270157122. 2
878270157123. 3

878270157124. 4

Question Number : 22 Question Id : 87827039999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the average of 10 numbers is 40 and the average of six of them is 28, then the average of the
remaining four numbers is :

(1) 52

(2) 54
(3) 56
(4) 58

s

Options :
878270157125. 1

878270157126. 2



878270157127.3

878270157128. 4

Question Number : 22 Question Id : 87827039999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o 10 Femell 1 399 40 € 741 370 | T &1 ol 28 €, 3 99 =R gemsd 1 sfed o a2
(1) 52

2) 54
3) 56
) 58

"

(
(4
Options :

878270157125. 1
878270157126. 2
878270157127.3

878270157128. 4

Question Number : 23 Question Id : 87827040000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

¥ 3080 is divided among A,B and C so that half of A's part, one third of Bs part and one sixth of
C's part are equal. Then B's part is

(1) ¥ 840

(2) %90
(3) ¥ 1080
(4) 72

Options :
878270157129. 1

878270157130. 2
878270157131. 3



878270157132. 4

Question Number : 23 Question Id : 87827040000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3080 AB AR CH 3 AR aa S 2 A% 5 o B ¥ foed o vor-ford qwn O % o
&1 Tl T a0 &, A F e &

(1) T840

(2) %90
(3) 1080
(&) %70
Options :
878270157129. 1
878270157130. 2
878270157131.3

878270157132. 4

Question Number : 24 Question Id : 87827040001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the values of P and in the [o]lawing number series ?

2, 8 o, 0y 12 28, PuCl i

(1) 48, 96
2) 20, 60
(3 12,120
(4) 48, 50
Options :

878270157133. 1
878270157134. 2

878270157135. 3



878270157136. 4

Question Number : 24 Question Id : 87827040001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

frefafea sie gEen § P IR Q 1 7F 71 8m 2
2,0,6,6,12,24, P, Q, ccovvvvveeee...

(1) 48, 96
(2) 20, 60
(3) 12, 120
(4) 48, 50
Options :

878270157133. 1
878270157134. 2
878270157135. 3

878270157136. 4

Question Number : 25 Question Id : 87827040002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A’ sells an article to ‘B at 20% profit. ‘B’ sells it to “C" at 15% loss. If ‘C" pays ¥ 510 for it, then ‘A’

purchased it at :

(1) 480

(2) 490

(3) T 500

(4) %520
Options :
878270157137. 1
878270157138. 2

878270157139. 3



878270157140. 4

Question Number : 25 Question Id : 87827040002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘A" Tl 1B I 20% T WS € 1 ‘B TR C o 15% B Wi € | A’ C A 3 for 2510
o1 ST fere, 1A 7 98 Fove o ey o2
(1) T480
(2) %490
(3) %500
(&) T520
Options :
878270157137. 1
878270157138. 2
878270157139. 3

878270157140. 4

Question Number : 26 Question Id : 87827040003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing abstractness :
(A) Mobile Telephone

(B) Android Phone

(C) Communication device

(D) Telephone

Choose the correct answer from the options given below :

(L) (®), (A), (D), Q)

(2) (®), (D), (A), (©)

(3) (©), (D), (A), (B)

4 (O, (A), (B), (D)

Options :



878270157141. 1
878270157142. 2
878270157143. 3

878270157144. 4

Question Number : 26 Question Id : 87827040003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fefcftaa gl 1 Ffeead/sTHad & 9ed %H H Haikyd S
(A) HIEEA SEHA

(B) U WM
(C) IR ITHI
(D) ZEHH

= feu v fasredi § 9 9 3T 1 =994 S0 -
() (B), (A), (D), (©)

(2) (B), (D), (A), (©)

(@) (©), (D), (A), (B)

(4) (©), (A), (B), (D)

Options :

878270157141.1

878270157142. 2

878270157143. 3

878270157144. 4

Question Number : 27 Question Id : 87827040004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No metals are gases

(B) No gases are metals
(C) No metals are non-gases
(D) All metals are non-gases

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (B) and (C) Only

(3) (B), (©) and (D) Only

(4) (A) and (B) Only

Options:

878270157145. 1

878270157146. 2

878270157147. 3

878270157148. 4

Question Number : 27 Question Id : 87827040004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 2 ¥ FeA qifthed 9 9 97 & 2
(A) g off g Ty e @

(B) I oft g urg 7 ©

(C) wIZ off arg Te-Trm e &

(D) Toft agd T €

= feu v fasredi § 9 | 3O & =94 iU -
(1) = (A), (B) ¥R (D)

(2) % (A), (B) 3R (C)
(3) dd (B), (C) ¥R (D)
(4) FIA (A) 3R (B)

Options :



878270157145. 1
878270157146. 2
878270157147.3

878270157148. 4

Question Number : 28 Question Id : 87827040005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"All phenomena in the universe are saturated with moral values. Therefore, we can conclude that
the universe for the Chinese is a moral universe”. Which informal fallacy is committed in the above
statement ?

(I)  Slippery Slope

(2) Begging the Question

(3) Hasty Generalisation

(4) Fallacy of Composition

Options :

878270157149. 1

878270157150. 2

878270157151. 3

878270157152. 4

Question Number : 28 Question Id : 87827040005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
"Rt H R TR At T 8 W (FER) O ¢ | e e e e ek & 6 i %
me#ﬁﬁﬁm%w T F | B T ST T A e
) (e Fer
(2) A A
(3) ot qHE
(4) wefagm




Options :

878270157149. 1
878270157150. 2
878270157151. 3

878270157152. 4

Question Number : 29 Question Id : 87827040006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logica]lyF equiualent to the statement “All beverages are
liquid" ?
(I)  All non-liquids are non-beverages.

2

Some beverages are liquid.

2
(3)  Allliquids are beverages.
g

}

Some ]11 uids are bevera ages.

Options:

878270157153. 1
878270157154. 2
878270157155. 3

878270157156. 4

Question Number : 29 Question Id : 87827040006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gl T e B B - freifatEd B § B T e e ¥ Y 38 FH F I §
1) 94 T-gd M-T 8 & |

) %9 T 7 e

) T Z I E

) F9 7 WA



Options :

878270157153. 1
878270157154. 2
878270157155. 3

878270157156. 4

Question Number : 30 Question Id : 87827040007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallatious, as per classical Indian school of logic, because of
the middle term being too narrow ?

(I)  All things are non-eternal because they are knowable

(2
3
(4

) The hill has fire because it is knowable
) Sound is eternal because it is audible

) Wherever there is fire, there is smoke
Options:

878270157157. 1

878270157158. 2

878270157159. 3

878270157160. 4

Question Number : 30 Question Id : 87827040007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R W = T 3 o frefetan 8 4 B0 1 9 g € i T v e S e
A ?

(1) T o - € e | 3

NIRERE UL Rk
(3) %A Ve & il 78 94 &
() e amE T g g
Options:

878270157157. 1
878270157158. 2
878270157159. 3

878270157160. 4

Question Number : 31 Question Id : 87827040008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I+ (0.5625);, = (09),,
Statement I:  (0.3),, = (0.4BBB....);

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

878270157161. 1

878270157162. 2

878270157163. 3

878270157164. 4

Question Number : 31 Question Id : 87827040008 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FIT (D) : (0.5625);, = (0.9)4,
FYA (1) : (0.3);, = (0.4BBB.....)(
IR FYA & 3k H, A f9u 7 faskedi § | W& I T Hi

(1) IR FHAT IS 6 ©

() YT R YA T IFH €

(3) YR I HH T, Al HUTIL 370 B
(4) HITIHHA B, WAl AT A €
Options :

878270157161. 1
878270157162. 2
878270157163. 3

878270157164. 4

Question Number : 32 Question Id : 87827040009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following acronyms is incorrectly matched with its expanded form ?
(1) IMPRINT - Impacting Research, INnovation and Technology
2) BHIM - BHarat Interface for Money

3) UMANG - Unified Mobile Application for New age Generation
4) PayTM - Pay Through Mobile

(
(
(
Options:

878270157165. 1
878270157166. 2
878270157167.3

878270157168. 4



Question Number : 32 Question Id : 87827040009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafed 4 § sm-49 dferaer #1359 foga ¥ 9 faem Tod €2
(1) 2w (IMPRINT) — SR @ gHrewH Ug s

) o (BHIM) — YRd 32059 BR A

) SHT (UMANG) — FfTHIEE HieTgel Terhym %R =J-Ts SReH
) YeH (PayTM) — ¥ ¢ HEmEA

Options :

878270157165. 1

878270157166. 2

878270157167. 3

878270157168. 4

Question Number : 33 Question Id : 87827040010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements in the context of digital technnlogies for entertainment :

Statement I :  In virtual reality, images generated from a computer are projected onto real life
objects or surroundings.

Statement Il :  In augmented reality, a simulated environment is created and the physical world
is completely shut out,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(

Options:



878270157169. 1
878270157170. 2
878270157171.3

878270157172. 4

Question Number : 33 Question Id : 87827040010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7% ) o fem T § ;oo Wi fefoem eif & g o

T (I): ST ARl H PG T Bl ) oo S /% A A1 ed R JEE
fepe o %

T (1) ; At arfod § ST Tiew S o o § o i SOl w% 9
IE |

I F & e B, 7 fou o fawed § 9 W I T S

(1) FRIIR FAA I T &

() RSN BRI S 59 ¢

(

(

e

) Y [ F E, WA O 11 9
4) ] A T, TR o 1

¥

Options :

878270157169. 1
878270157170. 2
878270157171.3

878270157172. 4

Question Number : 34 Question Id : 87827040011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When wa l'dling videos from a web site using streaming teclmology, which of the fnllowing will be
mvolved ?

(A) DNS

(B) FIP

C) IP

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

W () @ and (O

Options :

878270157173. 1

878270157174. 2

878270157175. 3

878270157176. 4

Question Number : 34 Question Id : 87827040011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TR o1 ST R g0 deree B fafed San wg frefefen § @ @9 @ wive §2
(A) STy

(B) A

Q) Y

4 feu U fosredi | 6 W& S 9 I

(1) 9aa (A) & (B)
(2) FFa (A) 3R (C)
() @A (B) M (C)
@ () @ RQ)

) (
) (
)
4)

Options :
878270157173. 1

878270157174. 2



878270157175. 3

878270157176. 4

Question Number : 35 Question Id : 87827040012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - I List - II
(Question) (Answer)

(A) How many ones are there in the binary representation (I) 13
of the decimal number 512 ?

(B) If1KiloByte = 2* bits, then what is the value of x ? (I) 20

(C) What hexadecimal value is obtained when the two (II) 1
hexadecimal digits A and B are added together ?

(D) What is the denary (base 10) value of the binary (IV) 15
number 00010100 ?

Choose the correct answer from the options given below :

(1) (AL), BHLV), (O-(0), D)-(I)

(2) (AL, (B)-(I), (C-(1V), (D))
(3)  (A)MI), (B}-(IIL), (C}-(II), (D)-(IV)
(4) (AN, B)-(1), (CHIV), (DHI)
Options :

878270157177. 1
878270157178. 2
878270157179. 3

878270157180. 4

Question Number : 35 Question Id : 87827040012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 9 Eit-11 1 fifer i

lt-1 -1

T £ty
(A) TWEE H&A 512 & fg-onyr wlemm W fFa R wEE? () 13
(B) 1 feralarze = 2 faeq &, @ x &1 WF 1 & ? (I 20
(C) @ 3 UISY-SH FeAl A 3R B I WY SEl (I 1

o A e 2 e e e 1 e A
(D) fgamar F&n 00010100 1 g9k A9 A F=EM? (V) 15
A1 fou 7o foeredl § @ W@ SO A 99 Ff

(1) (AR, (B)LV), (CHD), (DHI)
(2 (A, B)-1), (C-(1V), (D)-{10)
() (I), (B)-(I1I), (C)-(LT), (D)-(IV)
( ( ()

(A
(A
4) (A, (B)-(D), (CHIV), (DI

)
A)-
Options :
878270157177.1
878270157178. 2
878270157179. 3

878270157180. 4

Question Number : 36 Question Id : 87827040013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In air pollution, oxides of nitrogen (NOx) include :

(A) Nitric oxide

(B) Nitrous oxide

(C) Nitrogen dioxide

(D) Di-nitrogen trioxide

(E) Di-nitrogen penta oxide

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(@ (A)and (C) Only
(3) (B), (C) and (D) Only
@) (D)and (E) Only

Options:

878270157181. 1
878270157182. 2
878270157183. 3

878270157184. 4

Question Number : 36 Question Id : 87827040013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST JEUO H, eSS & SfEEEEd (NOx) # wfha €
(A) TEfeF HAlaHrEe

(B) TEZH SRS

(C) EEISH SReAES

(D) SEIEISE TR RS

(E) STE-TiEge el SRS

< feu T fasedi § 9 War SO o 999 FIfT
(1) &aa (A), (B) 3R (C)

(2) FaE (A) 3R (C)
(3) & (B), (O) iR (D)
(4) %9 (D) R (E)
Options :

878270157181. 1
878270157182. 2
878270157183. 3

878270157184. 4

Question Number : 37 Question Id : 87827040014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Increasingly, photovoltaic panels are being used to supplement electrical energy
from the power grid.

Statement I :  The compatibility of photovoltaic panels with power grid is also because it produces
Direct Current (DC).

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(



Options :

878270157185. 1
878270157186. 2
878270157187. 3
878270157188. 4

Question Number : 37 Question Id : 87827040014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 3 FA UM E

TR (1) OIS ¥ o 59 6 SR o o ) e T o 9w W 9 2 1 W &

FUR (I1) : T ire o T W v S v gefene o € i T fom em () T
kS

I Fo o e, 3 fou T feeredt # ¥ Wl S T i

1) YR 13 BRI 3 7§

) YR 1 3R R 11 G e §

) W1 T €, T w11 5 ¢

4) HIR 1S €, TR KO ¢

=]

(
(
(
(

Options:

878270157185. 1
878270157186. 2
878270157187. 3

878270157188. 4

Question Number : 38 Question Id : 87827040015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Rising nutrient levels in a lake change the numbers and types of biota present
there.

Statement I ; Eutmphic lakes non:na]l}F have clear water and contain little biomass.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270157189. 1

878270157190. 2

878270157191. 3

878270157192. 4

Question Number : 38 Question Id : 87827040015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157189. 1

878270157190. 2

878270157191. 3



878270157192. 4

Question Number : 39 Question Id : 87827040016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ :  The detrimental impacts of air pnllution are not limited to human health 0111}!.

Statement I :  Fluorine emitted in the air from various industrial processes has signi[icant
phytotoxicological effects.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270157193. 1

878270157194. 2

878270157195. 3

878270157196. 4

Question Number : 39 Question Id : 87827040016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157193. 1

878270157194. 2

878270157195. 3

878270157196. 4

Question Number : 40 Question Id : 87827040017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(Hazard related term) (Description)
(A) Risk (I)  Actions to mitigate losses
(B) Exposure (I)  Frequency of events causing losses
(C) Vulnerability (II) Magnitude of population and structure at risk
(D) Response (IV) Degree of preparedness
Choose the correct answer from the options given below :
(1) (A, ()(lﬂ) (C-LV), (D)
(2) (A, (B)-(1D), (©-LV), (D)}-0)
() (AR, ( )(UD (©-(l), (D)-(IV)
(4)  (AMI), (B}, (©)-{L), (DHLV)
Options:

878270157197. 1



878270157198. 2
878270157199. 3

878270157200. 4

Question Number : 40 Question Id : 87827040017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i1 9 Geft-11 1 e i
eI G-I
(v et ug) (i)
(A) TEw () THEH H FA F F fo Fare
(B) IR () TS T Tl SIS 1 TRaR
(C) ¥ (II) SHfEm Ja Srrel S G= i 9w
(D) 3R (IV) ARt i w
el feu 0 foeredl H § |E I 1 957 HifC ;
(1) (AR, B)-I), [©)-IV), (D)-1)
(2) (A, B)-IT), ©)-{IV), (D)-0)
(3) (AN, B)-(L), ©)-1), (D)-1V)
(4) (A, (B)ID), (©)-I), (D)-(V)
Options :

878270157197. 1
878270157198. 2
878270157199. 3
878270157200. 4

Question Number : 41 Question Id : 87827040018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The policy of privatisation of higher education began with the introduction of :
(1) Fourth five year plan

(2
(3
(

Sixth five year plan

)
)  Eighth five year plan
4

Tenth five year plan
Options:

878270157201. 1
878270157202. 2
878270157203. 3

878270157204. 4

Question Number : 41 Question Id : 87827040018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

=a foen % fsfierr &t ifa form s & 9% 89 | ey =i mé 2
(1) =iefi deedtE Fe

(2) BB T A
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Options :

878270157201. 1
878270157202. 2
878270157203. 3

878270157204. 4

Question Number : 42 Question Id : 87827040019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Science education in India was first started in Calcutta in 1817 at :
(I) Surendranath college

(2)  Ashutosh Mukherjee college
(3) St Xavier college

(4) Hindu college

Options:

878270157205. 1
878270157206. 2
878270157207. 3

878270157208. 4

Question Number : 42 Question Id : 87827040019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) ST TG Hc
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Options :

878270157205. 1
878270157206. 2
878270157207. 3

878270157208. 4

Question Number : 43 Question Id : 87827040020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The idea of a national education system in India could get ﬁllip with the transfer of control of
education in 1921 to :

(1)  The British Viceroy

2

(2) Indian ministers of provinces
(3)  The Christian missionaries

4)  European elite
Options:

878270157209. 1
878270157210. 2
878270157211.3

878270157212. 4

Question Number : 43 Question Id : 87827040020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 1921 5 9Ra ¥ T2 e vgfa o formm i ween fuen & fm o sfafa foe om § e ?

(1) fafen amem
(2) I o RAE
(3) e frri

(4) 709 % e s
Options :

878270157209. 1
878270157210. 2
878270157211. 3

878270157212. 4

Question Number : 44 Question Id : 87827040021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following universities were established in the same year of 1916 ?
Bombay University

B) Banaras Hindu University

D) SN.DT Women University

E) Punjab University

(
(
(C) Mysore University
(
(

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(

(2) (B), (C) and (D) Only
(3) (Q), (D) and (E) Only
(4) (A), (C) and (E) Only
Options:

878270157213. 1
878270157214. 2
878270157215. 3

878270157216. 4

Question Number : 44 Question Id : 87827040021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) il e

(B) ARH feg favafamma

(C) g Ffrafde

(D) W T & & e P
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= feu 7o fasredi § 9 WE SO 1 =91 FISU
(1) A (A), (B) &R (C)

(2) = (B), (C) ¥R (D)

(3) e (C), (D) ¥R (E)

(4) FE (A), (C) &R (B)

Options :

878270157213. 1

878270157214. 2

878270157215. 3

878270157216. 4

Question Number : 45 Question Id : 87827040022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  [fbig corporate houses establish universities in India, quality professional training
and education can be given to students.

Statement I1: Itis expecl‘ed that universities and institutes established b}f corporate houses will
be world leaders in education.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4) Statement I is incorrect but Statement II is correct



Options :

878270157217. 1
878270157218. 2
878270157219. 3

878270157220. 4

Question Number : 45 Question Id : 87827040022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157217. 1
878270157218. 2
878270157219. 3

878270157220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701679
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827040023 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Animals communicate with one another in many interesting ways. These may consist of signs,
gestures, looks, sounds, smells or even light produced by the body. Song and dance are the other
means of communication.

When faced with danger, animals wam others using signals such as mock charges, grimaces or
sound. They also call their mates, inform other members of the group about the source of food,
advertise territory and ‘teach’ the young the ways of the world. Baby birds call their parents for
help and attention and demand food.

Far from being a silent world, the ocean is a noisy place. Fishes, molluscs, sea lions, walruses,
whales and dolphins chatter away in the waters using a variety of sounds-whistles, squeaks, clicks
and groans which range from low pitch to ultrasonic sounds beyond the range of human hearing,
Whales and dolphins are sometimes called the ‘musicians of the sea’ as birds are of the sky.

Sub questions

Question Number : 46 Question Id : 87827040024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Animals use sounds to :

(A) Advertise teritory

(B) Warn of dangers

(C) Call their mates

(D) Invite their enemies

(E) Inform others about source of food

Choose the correct answer from the options given below :

() (B), (C) and (D) Only

(2) (A), (B) and (C) Only
(3) (A), (B), (C) and (E) Only
(4) (C), (D) and (E) Only

Options :



878270157221. 1
878270157222. 2
878270157223. 3

878270157224. 4

Question Number : 47 Question Id : 87827040025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the various ways in which animals communicate with one another ?
Sr:mg and dance

(

(B) Speech

(C) Signs

(D) Sounds

(E) Words

Choose the correct answer from the options given below :

(1) (C), (D) and (E) Only

(2) (A), (B) and (E) Only
(3) (A) ( ) ’illd( )Olll}’
4) (A) and (B) Only
Options :

878270157225. 1
878270157226. 2
878270157227.3

878270157228. 4

Question Number : 48 Question Id : 87827040026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The musicians of the sky are :
(1) Walruses
(2) Animals

(3) Dolphins
(4) Birds
Options:

878270157229. 1
878270157230. 2
878270157231.3
878270157232. 4

Question Number : 49 Question Id : 87827040027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Ultrasonic sounds’ are sounds which are :
Liked b}r humans

2

Disliked by humans

=

EZ; Audible to humans
(3)

(4) Inaudible to humans
Options :

878270157233. 1

878270157234. 2
878270157235. 3

878270157236. 4

Question Number : 50 Question Id : 87827040028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Sharks and crocodiles are called the musicians of the sea.
Statement I ; Bab}f birds cannot express their needs.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4)  Statement I is incorrect but Statement II is correct
Options :

878270157237. 1

878270157238. 2

878270157239. 3

878270157240. 4

Question Id : 87827040023 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Question Number : 46 Question Id : 87827040024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

u3] %af =1 9T R 389 o fore #d €2

(A) Y- F oI | 2= 991ed o1 SR 24 F foau
(B) W I =l o @ fow
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= fau o fasredi § | WE SOR 1 =9 S
(1) %9 (B), (C) 3R (D)

(2) 9 (A), (B) 3R (Q)

(3) I (A), (B), (C) 3R (E)

(4) 9 (O), (D) 3R (E)

Options :

878270157221. 1

878270157222. 2

878270157223. 3

878270157224. 4

Question Number : 47 Question Id : 87827040025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) %9d (A), (B) 3R (E)
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(4) FAA (A) IR (B)

Options :

878270157225. 1

878270157226. 2

878270157227.3

878270157228. 4

Question Number : 48 Question Id : 87827040026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I F GIAHEN € ;
(1) H=elH

(2 W

(3) EieEHA

(4) Teff

Options :

878270157229. 1
878270157230. 2

878270157231.3



878270157232. 4

Question Number : 49 Question Id : 87827040027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘mgen s U st € W
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(2) TSl ERI 4 Bt
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Options :

878270157233. 1
878270157234. 2
878270157235. 3

878270157236. 4

Question Number : 50 Question Id : 87827040028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270157237. 1
878270157238. 2
878270157239. 3

878270157240. 4

Law

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

878270929
2

Online
Mandatory
92

92

200

Yes

0

1
8782701680
Yes

null

Question Number : 51 Question Id : 87827040029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per the provisions of the Hindu Adoption and Maintenance Act, 1956, a bachelor male adopts
a child. He subsequently marries a woman. Such woman shall :

(I) be the adoptive mother of that adopted child

(2)  be the step mother of that adopted child

(3)  be the adoptive mother of that child if the child accepts her as mother

(4)  be the adoptive mother of that child at her discretion

Options:

878270157241.1

878270157242. 2

878270157243. 3

878270157244. 4

Question Number : 51 Question Id : 87827040029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157241. 1
878270157242. 2
878270157243. 3

878270157244. 4

Question Number : 52 Question Id : 87827040030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

A Hindu male having a Hindu wife, changed his religion and adopts Islam in 2012. He marries
again to a Mushm girl in 2013, In 2014, his Hindu wife died. His second marriage is :

(I) Valid as he married after conversion to Islam which permits bigamy

(2) Valid as his wife died after his marriage to Muslim girl

(3)  Void as he has not taken the consent of his Hindu wife

(4)  Void as his second marriage amounts to bigamy

Options :

878270157245. 1
878270157246. 2
878270157247. 3

878270157248. 4

Question Number : 52 Question Id : 87827040030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157245. 1

878270157246. 2

878270157247. 3

878270157248. 4

Question Number : 53 Question Id : 87827040031 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a ground for divorce under section 13 of the Hindu Marriage
Act, 1995 ?

(I)  Respondent is convicted for committing an offence

(2)  Respondent has renounced the world by entering any religious order

(3)  Respondent has ceased to be a Hindu by conversion to another religion

(4)  Respondent has not been heard of as being alive for a period of seven years

Options :

878270157249. 1

878270157250. 2

878270157251. 3

878270157252. 4

Question Number : 53 Question Id : 87827040031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:

878270157249. 1
878270157250. 2
878270157251.3

878270157252. 4

Question Number : 54 Question Id : 87827040032 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A Muslim can make a bequesl of his property without the consent of heirs to the extent of :
) half of his property

) whole of his property

) one-fourth of his property

) one-third of his property

Options :

878270157253. 1

878270157254, 2

878270157255. 3

878270157256. 4

Question Number : 54 Question Id : 87827040032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157253. 1
878270157254. 2
878270157255. 3

878270157256. 4

Question Number : 55 Question Id : 87827040033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which Article in the Constitution of India established National Commission for the Scheduled
Castes ?

(1) At 335

(2) Art 338

(3) At 341

(4) Art. 342A
Options :
878270157257. 1
878270157258. 2
878270157259. 3

878270157260. 4

Question Number : 55 Question Id : 87827040033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yid % Tfaem & fog e § Ui erqgfad Sifd SN T # TEeE © 2
(1) =T 335

(2) &TE 338
(3) &TT 341
(4) &TT 342A
Options :

878270157257. 1
878270157258. 2
878270157259. 3

878270157260. 4

Question Number : 56 Question Id : 87827040034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Polluter pays principle is also known as
(1) Principle of Good Neighbourliness
(2) Principle of Common Responsibility

(3) Principle of Public Liability

(4) Principle of Extended Producer Responsibility (EPR)

Options :

878270157261. 1
878270157262. 2
878270157263. 3

878270157264. 4

Question Number : 56 Question Id : 87827040034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YGHUTRAl ST Y fagr T & w9 ¥ ot S S 2
(1) &= 9S =1 fagr

(2) THM eI 1 fagr

(3) HrEsIeR gfaE # fagr

(4) Torefed scomeer 1 STEIawE (5.9.3R) 1 fagr

Options :

878270157261. 1
878270157262. 2
878270157263. 3

878270157264. 4

Question Number : 57 Question Id : 87827040035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which country does not provide any written constitutional guarantee of fundamental freedoms ?
() UK

(2) UK and USA

(3) UK and India

(4) USA

Options :

878270157265. 1

878270157266. 2

878270157267. 3

878270157268. 4

Question Number : 57 Question Id : 87827040035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

frrefetfad o & w1 <9 Hifers T i fafed et gl () 7@ <@ e ?

Options :

878270157265. 1
878270157266. 2
878270157267. 3

878270157268. 4

Question Number : 58 Question Id : 87827040036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following follow a parliamentary system of government ?
(1) India only

(2) Australia only
(3) India and Australia
(4) UK and USA

Options:

878270157269. 1
878270157270. 2
878270157271.3

878270157272. 4

Question Number : 58 Question Id : 87827040036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafag o 9 foras SO Yomel sl TR =l STH™T € 7

(1) I ¥Rd

(2) hed e

(3) YRd IR e

(4) FF ARATEY
Options :

878270157269. 1
878270157270. 2
878270157271.3

878270157272. 4

Question Number : 59 Question Id : 87827040037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the follow ing countries do not follow the scheme of distribution of power ?
) India

) USA

) UK

) Canada
Options:
878270157273. 1
878270157274. 2
878270157275. 3

878270157276. 4

Question Number : 59 Question Id : 87827040037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

frefafaa 8 @ #H-a1 <9 9fg F fomor ugfa &1 s @ i & ?
(1) wrd

() FTET,
(B) Ik
(4) TSl
Options :

878270157273. 1
878270157274. 2
878270157275. 3

878270157276. 4

Question Number : 60 Question Id : 87827040038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which country the appointment of judges are made through the parliament ?

(I) UK

(2) USA

(3) India

(4)  All the above
Options:

878270157277. 1
878270157278. 2
878270157279. 3

878270157280. 4

Question Number : 60 Question Id : 87827040038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forg o1 § =mensdel = frafaa 9o & meam 4 S §2

(L) I+

(2) IATEE
(3) Hd

(4) IIUE Gl
Options :

878270157277. 1
878270157278. 2
878270157279. 3

878270157280. 4

Question Number : 61 Question Id : 87827040039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A human beirlg ceases to be a person, in law as in fact

(I) On being adjudged an insolvent
(2)  On renunciation of citizenship
(3) On conviction

(4) At death

Options:

878270157281. 1
878270157282. 2
878270157283. 3

878270157284. 4

Question Number : 61 Question Id : 87827040039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FI TS H HIE Ao oy Al & @@ A

(1) = fearfa=n =ifya & S e
(2) I AN B <l ©

(3) FBINEG e SR

(4) IHHI GF B A ©
Options :

878270157281. 1
878270157282. 2
878270157283. 3

878270157284. 4

Question Number : 62 Question Id : 87827040040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Salmond distinguishes between ’pnssessinn in fact’ and ’possession in law’, He treated possession
infactas

) A fallacy

) A fiction

) A conception

) Aright
Options:
878270157285. 1
878270157286. 2
878270157287. 3

878270157288. 4

Question Number : 62 Question Id : 87827040040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gme ' aom: Fea' ' fafie Fee” | 9T A B TR 99 Fed FT
(1)
(2)
(3)
(4)

-

4)  dYER

Options :

878270157285. 1
878270157286. 2
878270157287.3

878270157288. 4

Question Number : 63 Question Id : 87827040041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



American realist Judge Jerome Frank described his own attitude (towards realism) as one of :
(1)  Dedisive cynicism

(2) Constructive skeplicism

(3) Positive evangelism

(4)  Radical objectivity
Options:
878270157289. 1
878270157290. 2
878270157291. 3

878270157292. 4

Question Number : 63 Question Id : 87827040041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SR AT A S e A 9 @ R (39 § gaf) @ F7|
(1) ot < <fifer (Fewmefim faffasm)
2) T §YER (HefHRe wites)
3) TR YaET (ates damiesm)

4) TR TR (

¥ e N R

EE TR ESIEHERD

(
(
(

Options :

878270157289. 1
878270157290. 2
878270157291. 3
878270157292. 4

Question Number : 64 Question Id : 87827040042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The term pref&rred by Bentham to explajn his imperative concept of alaw is:
(1) Firman

(2) Mandate
(3) Dictate
(4) Fiat
Options:

878270157293. 1
878270157294. 2
878270157295. 3

878270157296. 4

Question Number : 64 Question Id : 87827040042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

dem 3 faftr =7 379 sevens HReda % fau frg 12 =1 9w R €7

(1) M

(2) Wz (fycw)

(3) fexe (T=ew)

4) True (Tl amew)
Options :

878270157293. 1
878270157294. 2
878270157295. 3
878270157296. 4

Question Number : 65 Question Id : 87827040043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



With respect to which of the following kind of IPR, there exists a statutory ban for assignment ?

(1) Patents

(2) Trademarks

(3)  Geographical Indication

(4) Layout Designs of Integrated Circuits

Options:

878270157297. 1
878270157298. 2
878270157299. 3

878270157300. 4

Question Number : 65 Question Id : 87827040043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefferfas & & 7§ mehem, & des o srareiie & wifdfes gfaay 1 wEae 87

(1) &

@ e

(3) e Heka (SH.31E,)

(4) HHFT Hlehe F1 ThiFA AHeT (damse S Ieies wihe)
Options :

878270157297. 1
878270157298. 2
878270157299. 3

878270157300. 4

Question Number : 66 Question Id : 87827040044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“Moral Right” is a concept prevailing in :
(1) Industrial Design

(2) Geographical Indication

(3) Trademark

(4) Copyright

=

Options:

878270157301. 1
878270157302. 2
878270157303. 3
878270157304. 4

Question Number : 66 Question Id : 87827040044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"3 srfurer ! i stavren frfafes o 9 fEud dag €2
(1) eifier sfvre (Feediue fesmz)

(2) 9Fiifersh 3RS (Hohd) (SAMIfReRel 3Tehym)

Options :

878270157301. 1
878270157302. 2
878270157303. 3
878270157304. 4

Question Number : 67 Question Id : 87827040045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following international legal instrument is relating to patent ?
(1) Budapest Treaty, 1977

(2) Madrid Agreement, 1891

(3) Berne Convention, 1886

(4) Washington Treaty, 1989
Options:

878270157305. 1
878270157306. 2
878270157307. 3

878270157308. 4

Question Number : 67 Question Id : 87827040045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frefafaa & | =H sy fafue soem g2z 4 218 ?
(1) ESU& §fY, 1977

(2) Hfge TwE, 1891

(3) #F HHTH, 1886

(4) =T EiE, 1989
Options :

878270157305. 1
878270157306. 2
878270157307. 3

878270157308. 4

Question Number : 68 Question Id : 87827040046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which kind of patent is pml‘ec[able in India ?
(I) Design Patent

(2) Utility Patent

(3) Process Patent

(4) Plant Varjet}f Patent

Options:

878270157309. 1

878270157310. 2

878270157311. 3

878270157312. 4

Question Number : 68 Question Id : 87827040046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa o 9§ foFg weRr &1 982 vra o e 4rg § 2
(1) fesiEa gz

(2) IgdifTar (FEfeel) v

(3) WisFE (WEE) 2

(4) e fafaean (e aUgel) weE

Options :

878270157309. 1

878270157310. 2

878270157311. 3

878270157312. 4

Question Number : 69 Question Id : 87827040047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“To protect and improve the natural environment including forest, lakes, rivers and wildlife and
to have compassion for living creatures” is provided under which Part of the Indian Constitution ?
(I) Fundamental Rights

(2) Fundamental Duties

(3)  Directive Principles of State Policy

(4) Obligation of State

Options:

878270157313. 1

878270157314. 2

878270157315. 3

878270157316. 4

Question Number : 69 Question Id : 87827040047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

" e e 1 fov it o, g, AR 3 i € T R Gl T W R e
T & o e @ | 7 AT e s o el e T )

Options :

878270157313. 1
878270157314. 2
878270157315. 3

878270157316. 4

Question Number : 70 Question Id : 87827040048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

As per National Green Tribunal Act, 2010, “Environment” includes water, air and land and other
interrelationship, which exists among and between water, air and land and human beings, other
living creatures, plants, microorganism and

(I)  Ecosystem

(2
(3
(4

) Biodiversity

) Property

) Climate
Options :
878270157317. 1
878270157318. 2
878270157319. 3

878270157320. 4

Question Number : 70 Question Id : 87827040048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e erfarn aifefm, 2010 € SR, * vt # o7, 9, 9 Ao 3 o o e Wi
¢ forer e e, 3, fY 90 Wa & o e o Sifod wived, wed, g A
% T T ¢

(1) it

() Efafsm

(3) ¥

(4) ey
Options :
878270157317. 1
878270157318. 2
878270157319. 3

878270157320. 4

Question Number : 71 Question Id : 87827040049 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When an absolute right is violated, the law conclusively presumes damages although the person
wronged may have suffered no pecuniary loss. This was decided in case of :

(I) Rogers v. Rajender Dutt

(2)  Ashby v. White

(3)  Winsmore v, Greenbank
(4)  Tozer v. Child
Options :
878270157321. 1
878270157322. 2
878270157323. 3

878270157324. 4

Question Number : 71 Question Id : 87827040049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ferell ey SRR (absolute right) 31 St & o1 391  fofty & 21 Fverrer Soeeon a7 & iy

forg o % i <oyl e o T € 30 A e (enfi) wf K B T fafoi R am
(arer) # e o1 2

T T Tig, 39

Options:

878270157321. 1
878270157322.2
878270157323. 3

878270157324. 4



Question Number : 72 Question Id : 87827040050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Red herring prospectus is a prospectus issued :
(1) Prior to the issue of prospectus

(2) After the issue of main prospectus

(3) With the consent of shareholder

(4)  On the behest of ROC (Register of Companies)
Options :

878270157325. 1

878270157326. 2

878270157327.3

878270157328. 4

Question Number : 72 Question Id : 87827040050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e Taftn yreieey o faatiure eidt © S S o Sl © -
(1) foaiore s forg oM & 94
(2) HEA faaxfores S fope =i+ o 999
(3) IIRHHR i gHfd §
(4) TT=R =A% AT (SAREALEHL) &l S H
Options :
878270157325. 1
878270157326. 2
878270157327.3

878270157328. 4

Question Number : 73 Question Id : 87827040051 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The term “Contra Prolerentem” means :
(1) Contradictory contract
)

(2) Standard form contract are to be interpreted legally

(3) Limited construction

(4) Ambiguity is to be resolved against the party who inserted limiting term
Options :

878270157329. 1

878270157330. 2

878270157331. 3

878270157332. 4

Question Number : 73 Question Id : 87827040051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

et arten ! o ot &

(1) foriensmet gfor

(2) W ¥ iRl 1 fafie w9 § amen #i 5

(3) g e 2 s

(4) fafafen v gmfaw &0 ol 1=t % faeg srqea @ frew fvan s =ifen

Options:

878270157329. 1
878270157330. 2
878270157331. 3

878270157332. 4

Question Number : 74 Question Id : 87827040052 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per the Partnership Act, 1932 “Partmership” is defined under :
(1) Section 8

(2) Section 7

(3) Section 5

(4) Section 4

Options :

878270157333. 1

878270157334. 2

878270157335. 3

878270157336. 4

Question Number : 74 Question Id : 87827040052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qRirerl a1fafram, 1932 F oFER ' vriier ' =it aftmr = 78 € -

(1) =8 H
(2) HU7H
(3) HRI5H
(4) 94
Options :

878270157333. 1
878270157334. 2
878270157335. 3

878270157336. 4

Question Number : 75 Question Id : 87827040053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

“Consideration 1s not necessary for creation of Agency" This 1s prmfided hi i

(1) Section 185 of the Indian Contract Act, 1872
(2)  Section 4 of the Partnership Act, 1932

(3) Section 4 of the Indian Agency Act, 1950

(4) Section 2 of the Companies Act, 2013

Options :

878270157337. 1
878270157338. 2
878270157339. 3

878270157340. 4

Question Number : 75 Question Id : 87827040053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

" v % i & foru et e 1§ $EeR Seord FefcifEn § e o T @2
(1) wdra wfae s, 1872 31 M 185

(2)  miterdt aferfm, 1932 1 4 4 0

(3) T SRt S, 1950 F U4 ¥

(4) FF SffEE, 2013 H O 2 F

Options :

878270157337. 1
878270157338. 2
878270157339. 3

878270157340. 4

Question Number : 76 Question Id : 87827040054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘A" makes a contract with ‘B" to buy B’s horse if A’ survives ‘C'.
This contract can be enforced by law only when :

(1) ’'C dies in lifetime of "A’

(2) ‘A’ dies in lifetime of ‘'C’

(3) ‘A" and ‘C’ both die

(4) B’ diesin lifetime of "A’

Options:

878270157341. 1

878270157342. 2

878270157343. 3

878270157344. 4

Question Number : 76 Question Id : 87827040054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

878270157341. 1
878270157342. 2
878270157343. 3

878270157344. 4

Question Number : 77 Question Id : 87827040055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

There 15 no distinction between de facto and de jure recognition for the purpose of giving effect to
the internal acts of the recognised authority. This was held so in the case of
(I)  Mighell v. Sultan of Johore
(2)  Luther v. Sagor
(3)  Vavasseur v. Krupp
(4)  Schooner Exchange v. Mc Faddon
Options :

878270157345. 1
878270157346. 2
878270157347. 3

878270157348. 4

Question Number : 77 Question Id : 87827040055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR 9 TR o STk e o W 90 o SR B s ST e ¥ T 7§ 9 71
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(1) o aW SR % qe

() TR T TR

(3) TR ST Y
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Options :

878270157345, 1

878270157346, 2

878270157347. 3

878270157348. 4

Question Number : 78 Question Id : 87827040056 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Supreme Court of India remarked that “Extradition with foreign states is, except in exceptional
cases, governed by treaties or arrangements made” in the case of :

(1) State of Maharashira v. Shobha Vitthal Kolte

(2) T. Vellaiyan v. The Registrar, SHRC, Chennai

(3) State of Madras v. C.G. Menon

(4) N.C Dhoundial v. Union of India

Options :

878270157349. 1

878270157350. 2

878270157351. 3

878270157352. 4

Question Number : 78 Question Id : 87827040056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T o ST =T A et ot g fo et W 7 et o o syanfees anedt & e focett g
§ 3 39 % i1 i o T A o T & o 8 e
(1) WERTE T o T fagal #iee
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(3) WS T o S, 7
(4) TAH. sifeard s 9w §9

Options :

878270157349. 1

878270157350. 2

878270157351. 3

878270157352. 4

Question Number : 79 Question Id : 87827040057 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"A man’s nationality is a continuing legal relationship between the sovereign state on the one
hand and the citizen on the other. The fundamental basis of a man's nationality is membership of
an independent political community”. This definition of nationality was given by the British
Mexican Claims Commission in the case of ;

(1)  Youman's case

(2) Re, Meunier

(3) Re, Castioni

(4) Re, Lynch

Options :

878270157353. 1

878270157354. 2

878270157355. 3

878270157356. 4

Question Number : 79 Question Id : 87827040057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frl ST ) T O T 9 T 741 < o A A o o v 31 o
T 1 7ol TR T i Toiioes e 31 9o 1" T 1 7 o fofew e
mmﬁm gm0 et g et 4 7 o2
) T A
(2) ft, ity
() R mfeqﬂ”r
W ®
Options:
878270157353. 1
878270157354. 2
878270157355. 3



878270157356. 4

Question Number : 80 Question Id : 87827040058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The General Assembl_v of the United Nations passed the Um’l‘ing for Peace Resolution on :
(1)  December 10, 1948
2)  August 1, 1950
) August 31, 1965
4)  November 3, 1950
Options :
878270157357. 1
878270157358. 2
878270157359. 3

878270157360. 4

Question Number : 80 Question Id : 87827040058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

W T2 T F TEEH g Wifd & fow ve wekew’ 1 Wi fR T o
(1) 10 feHwR, 1948

(2) 1 3T, 1950
(3) 31 T, 1965
(4) 3 TS, 1950
Options :
878270157357. 1
878270157358. 2
878270157359. 3

878270157360. 4



Question Number : 81 Question Id : 87827040059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Preamble of the Constitution of India :
(1) can be amended
2

(2) cannot be amended
(3) can be amended only by the Supreme Court
(4) cannot be amended because it is a part of the basic feature of the Constitution

=

Options :

878270157361. 1
878270157362. 2
878270157363. 3

878270157364. 4

Question Number : 81 Question Id : 87827040059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YRd o GfaH 1 SefIehl 1 ;
(1) dsifea foran < wear €1

) HeNfHd el foha T HeRdl €
) ool SwAAH AAed g S faRan S gkl B
) HYNTYa el e S Hebal iR e WiaU™ % 9o 3= & fewg g

iFs ]

(2
(
(4
Options:

878270157361. 1
878270157362. 2
878270157363. 3

878270157364. 4



Question Number : 82 Question Id : 87827040060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Kaushal Kishore v. State of UP (2023) the fundamental right under article 19 is
available against :
(1

2

) State actors only

(2)  Non state actors only

(3) State as well as non state actors
4

4

State under article 12 only
Options :

878270157365. 1
878270157366. 2
878270157367. 3

878270157368. 4

Question Number : 82 Question Id : 87827040060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

I TR A 3R 9eW T (2023) W o SHTER AT 19 o A qe SR e

foreg Sye@ g ¢ :

(1) & T

(2) oo T4

(3) T4 -1 o el

(4) A AT 12 T T

Options :

878270157365. 1
878270157366. 2
878270157367.3

878270157368. 4



Question Number : 83 Question Id : 87827040061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which of the following cases has it been held that the doctrine of basic features does not constitute
a limitation on the legislature while enacting ordinary legislation ?

(1) Indira Gandhi v. Raj Narain

(2) Swadeshi Industries v. Workmen

(3)  Royappa v. State of Tamil Nadu

(4)  Kishor v. State of Rajasthan

Options :

878270157369. 1

878270157370. 2

878270157371.3

878270157372. 4

Question Number : 83 Question Id : 87827040061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

et @ form et o 7 o 0 § T e @i o g am fave aifufafi w0 @

Options :

878270157369. 1
878270157370. 2
878270157371.3

878270157372. 4



Question Number : 84 Question Id : 87827040062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the folli)wing provisions of the Constitution of India mandates crimmalisation of
prohibited conduct ?

(1) Article 17 only

(2)  Article 23 only

(3)  Article 17 and 23 only
(4) Article 17, 23 and 24
Options :
878270157373. 1
878270157374. 2
878270157375. 3

878270157376. 4

Question Number : 84 Question Id : 87827040062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
A o HfauH o o Suasl | gfaftrg s o1 srqusie srieid 87
(1) e S8 17

(2) FEA T 23
(3) had SIwE 17 3R 23
(4)

TR 17, 23 3N 24

Options :

878270157373. 1
878270157374. 2
878270157375. 3

878270157376. 4



Question Number : 85 Question Id : 87827040063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Mens rea does not include :
(1) Intention

(2) Knowledge

(3) Reason to believe

(4) Motive

Options :

878270157377. 1

878270157378. 2

878270157379. 3

878270157380. 4

Question Number : 85 Question Id : 87827040063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

srquierer we:fearfa (wafwn) # fiet =& 2

(1) &mE

(2) I

(3) favar & &1 HR
(4) =g

Options :

878270157377. 1
878270157378. 2
878270157379. 3

878270157380. 4

Question Number : 86 Question Id : 87827040064 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The right of private defence extends to causing death under which provision of IPC :
(1) Section 100 only

(2)  Section 100 and 103 only

(3) Section 103 only

(4) Section 100, 103, 105

Options :

878270157381. 1

878270157382. 2

878270157383. 3

878270157384. 4

Question Number : 86 Question Id : 87827040064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
R, % T suay 3 areta ol wfewen & afsm 1 fowr g i@ #0787
(1) e *R 100

(2) e 4N 100 791 103

(3) e 4 103

(4) W 100, 103, 105

Options:

878270157381. 1

878270157382. 2
878270157383. 3

878270157384. 4

Question Number : 87 Question Id : 87827040065 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A and AE plan to commit mbber_v. Mere agreement to commit this offence is punjshable under
which prm-‘ision of [PC?

() 1208

(2) 107 (2)

(3) 120 B and 107 (2)

(4)  Without actus reus it is not possible at all
Options :

878270157385. 1

878270157386. 2

878270157387. 3

878270157388. 4

Question Number : 87 Question Id : 87827040065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A, 3R A, T 0 31 A 9 €| TET, 3 o 3wy 3 s e e 9 fore el o
T |

() 1208

(2) 107 (2)

(3) 1209 @41 107 (2)

(4)  form Sl o (v fraw) it for o ot Sty el €
Options :

878270157385. 1
878270157386. 2
878270157387. 3

878270157388. 4

Question Number : 88 Question Id : 87827040066 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A is lawfully arrested lw Zwhois a pnhce officer. A loses his self control by ¢ grave and sudden
provocation due to arrest and kills Z. A shall be pumshed under

(1)  Section 304 of [PC

(2)  Section 302 of [PC

(3)  Section 304 or 302 of IPC

(4)  Section 301 read with Section 302 of IPC
Options :

878270157389. 1

878270157390. 2

878270157391. 3

878270157392. 4

Question Number : 88 Question Id : 87827040066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AT U Y 7 3 5w fore o & 1 U Qe o 21 3 PR o e R ol s
ST 3 T ) A S 2 e 230 R 1 A9 o o
(1) SR w304
(2) SETH B W 302
(3) STt T o 304 Sl 302
(4) SR P 4301 % WY Ted 4w 302

Options:

878270157389. 1

878270157390. 2

878270157391. 3

878270157392. 4



Question Number : 89 Question Id : 87827040067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

All sums realised by way of penalties under the Competition Act, 2002 are credited to :
(1) Competition Fund

(2) Consolidated Fund of India

(3)  Finance Account of Ministry of Commerce

(4) PM Relief Fund

Options :

878270157393. 1

878270157394. 2

878270157395. 3

878270157396. 4

Question Number : 89 Question Id : 87827040067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

il s, 2002 o H4IH e o WeAH § o T Wl O o E W S o

Options :

878270157393. 1
878270157394. 2
878270157395. 3

878270157396. 4



Question Number : 90 Question Id : 87827040068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Central Consumer Protection Council is headed by a chairperson who is

(1) Retired judge of the Supreme Court of India

) Minister in charge of Department of Consumer Affairs in Central Government
) President of India or his nominee

) Head of Competition Commission of India

Options :

878270157397. 1
878270157398. 2
878270157399. 3

878270157400. 4

Question Number : 90 Question Id : 87827040068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

FETT ST EET0T TS 1 M (SrAvuE) e e S ;
(1) 9RA & I=HTH e 1 Gerfad = 3 |

(2) = HIER H SYNE A AT o1 g H
(3) YIRA = Tl @ 3% g Aifid =afad 2
(4) YR FfaeaHl ST o 9 o |

Options :

878270157397. 1
878270157398. 2
878270157399. 3

878270157400. 4

Question Number : 91 Question Id : 87827040069 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Dominant position’ of an enterprise is reflected in which of the following situations :
(A) Position of strength in the relevant international market

(B) Enterprise operating independently of market forces in India

(C) Affecting competition or consumers of relevant market in India in its favour
(D) Position of strength enjoyed in relevant market in India

Choose the correct answer from the options given below :

(1) (A) (), (C) Only

@ (A)(©) (D) Only
() (B), (A), (D) Only
(4) (©), (D) (B) Only
Options :
878270157401. 1
878270157402. 2
878270157403. 3

878270157404. 4

Question Number : 91 Question Id : 87827040069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



foreft em 1 ‘g et reifer 9 ot <omal o wftafim 2R €

(A) T (FET) SRULE a9 § Yeerd () 1 et

(B) S H TSI 21 Vifekrel T Bt Yeller shTae] e

(C) wa W YT (FHa) AR o Ghereqfel s Susaien 1 oo e H Yoo
(D) I ¥ T arm # Sue 1 T yaew F; wief

1 feu U fomred) o © W I F T Fiow:
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Options:

878270157401. 1
878270157402. 2
878270157403. 3

878270157404. 4

Question Number : 92 Question Id : 87827040070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What amongst the [D]lnwing are necessary to constitute a false imprisonment.
(A) Total restrain on liberty of a person

(B) Detention may be actual or constructive
(C) It should be for a period of 2 years at least
(D) Detection or restrain should be unlawful

Choose the correct answer from the ﬂptinns given below :

(1) (A) (B), (C) Only

(2)  (B), (C), (D) Only
(3 (A), (B), (D) Only
(4)  (A) (©), D) Only



878270157405. 1
878270157406. 2
878270157407. 3

878270157408. 4

Question Number : 92 Question Id : 87827040070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frem wram & fou freifea 5 9 3 savas €2
(A) Tordl =afe =1 o= 9 qoi yfde |
(B) Tl arcafas =1 sA=ET oft &1 TR
(C) 48 &H 9 %W 2 T4 i 714 T & fore & =ifee |
(D) T = wfedrer (wfesier) fafy fawg S =mfeq|
= fou 7o faed § § WaE SO ol 997 HiTelu;

(1) =d (A), (B), (O)
(2) =d (B), (O), (D)
(3) = (A), (B), (D)
(4) FF (A), (©), (D)
Options :

878270157405. 1
878270157406. 2
878270157407. 3

878270157408. 4

Question Number : 93 Question Id : 87827040071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What amongst the fD]lthing are necessary characteristics for ‘Libel’.
(A) It is defamation of permanent form

(B) The burden of proof that the words are false lie upon the plaintiff
(C) No actual damage need to be proved to sustain an action

(D) Falsity of charge is presumed in favour of plaintiff

Choose the correct answer from the options given below :

(1) (A) (B), (C) Only

(2)  (B), (C), (D) Only
(3)  (A), (B), (D) Only
4)  (A) (©) (D) Only
Options:

8782701574009. 1
878270157410. 2
878270157411. 3

878270157412. 4

Question Number : 93 Question Id : 87827040071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frreafeifim 9 91 ST T ( Libel)  STa99 N E ;

(A) Te ToTHEY § A € |

(B) T g F # W fF = 8 &, T W e

(C) ol smael =1 W W % ferw forel aveefres e ) fig fop vt o aevereren 61 €1
(D) ST 1 ST ] Geloron frehraerd (S1) o W&l H 7E I ¢
ﬁﬁﬁqwﬁwﬁﬂﬁuﬁrmmwﬁm

Options :



8782701574009. 1
878270157410. 2
878270157411. 3

878270157412. 4

Question Number : 94 Question Id : 87827040072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are characteristics of a government promissory note :
(A) Itisa promise of President of India or Governor of a state

(B) It is regulated by the Indian Securities Act, 1886

(C) They are not negotiable instrument

(D) They can be assigned without endorsement

Choose the correct answer from the D]Jtiﬂl'lS given below :

(1) (A), (B) Only

() () (O Only
(3)  (8), (D) Only
@ (C), (D) Only

Options :

878270157413. 1
878270157414. 2
878270157415.3

878270157416. 4

Question Number : 94 Question Id : 87827040072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fretfafaa § & s TeErl a=F 9= 1 fagraand &2
(A) T YRA % ALY FYS ToF o THITA H1 949 ¢ |
(B) I wdg wfayfa sifufTem, 1886 g1 faftafva &
(C) & Wepr forga & 2 |

(D) @ o1 g=ied & fou 1 9d T

= feu v fasredi § o W 39 F 994 B

(1) <= (A), (B)

(2) *=E (B), (O
(3) = (B), (D)
(4) F=d (C), (D)
Options:

878270157413. 1
878270157414. 2
878270157415. 3

878270157416. 4

Question Number : 95 Question Id : 87827040073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Non-obstnate Clause in section 145 of the Negotiable Instrument Act, 1881 provides for which of
the following :

(A) dispenses with the procedure under section 200 of CrPC

(B) procedure of examination of complainant and witness on oath is done away

(C) affidavit of complainant and witness can be accepted

(D) sworn statement recording by the magistrate is dispensed with

Choose the correct answer from the options given below :

(1) (A), (B) Only

(@ (A), (C) Only
() (B), (), (D)Only
() (4) ®) () D)

Options :



878270157417. 1
878270157418. 2
878270157419. 3

878270157420. 4

Question Number : 95 Question Id : 87827040073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

R o sifefam, 1881 31 4 145 & Taed @ | freffs | @ o a1 91 Jeum fa
8!

(A) T, T 4T 200 % SR Wb B SR T A €

(B) foremendl @1 Ten 1 Wor 7o 09 T Weft o WO S B

(C) Tl den el o1 Yoo Tl oA ) e 2

(D) WISe G 99 % 1 Fekred fiee 0 4 geam |

A fou T foeredt © @ W I A Ffow:

Options :

878270157417. 1
878270157418. 2
878270157419.3

878270157420. 4

Question Number : 96 Question Id : 87827040074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following expressly contain a provision for right to bear arms’ as fundamental
right ?

(:’E\J] The Constitution Act, 1867 (Canada)

() Amendment II of US Constitution

(C) Constitution (108" Amendment) Act (India)

(D) Human Rights Act, 1998 (UK)

Choose the correct answer from the options given below :

() () () Orly

(2) (A)Only
(3) (B) Only
) (0) (D) Only
Options:
878270157421. 1
878270157422. 2
878270157423. 3

878270157424. 4

Question Number : 96 Question Id : 87827040074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frpeifefian & 4 forl et cafienm & w9 B fom TR (g ¢ o o) ey e €7

(A) HfauH sufam, 1867 (FArT)

(B) e a1 Wi FAMeA-1I

(C) el e 21 108 o T

(D) T st sffrm, 1998 (3efe)
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Options :



878270157421. 1
878270157422. 2
878270157423. 3

878270157424. 4

Question Number : 97 Question Id : 87827040075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Constitution of which of the country “expressly” states that the Constitution shall be the supreme
law of the land ?

(A) USA

(B) South Africa

(C) India

(D) UK

Choose the correct answer from the options given below :
() (A) (B Only

(2) (B), (C) Only
(3) (A), () Only
(4) (B), (D) Only
Options :
878270157425. 1
878270157426. 2
878270157427. 3

878270157428. 4

Question Number : 97 Question Id : 87827040075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157425. 1
878270157426. 2
878270157427.3

878270157428. 4

Question Number : 98 Question Id : 87827040076 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statement :
(A) Fundamental rights are expressly provided in the US Constitution

(B) Restrictions on fundamental rights are expressly provided in the US Constitution
(C) Fundamental rights and Human Rights are same in India
(D) Directive principles in Indian Constitution are not enforceable by courts

Choose the correct answer from the Dpti{ms given below :

(1) (4) (©), (D) Only

() (A), (D) Only
(3) (A) @), (C), (D)
(4)  (4). (B), (D) Only

Options :

No



878270157429. 1
878270157430. 2
878270157431. 3
878270157432. 4

Question Number : 98 Question Id : 87827040076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fefiferel sheri WX foram shifore |

(A) e SR o Wi & gfaym | T svey f T g

(B) | Tl % Haum ¥ qa AR & YA #1 T 3y fHE T
(C) wa H ot Ao 3R W SHfirehr S T €

(D) 9 & Hfqum ¥ sfefad 1 i Aifq fFewes a@ = § g T8 |
%ﬁqwﬁwﬂﬁﬁﬁmaﬂwﬁm

1
2
3
4

Eﬁ
@;—-ﬁ-\

()
(2)
(3)
(4)
Options :

878270157429. 1
878270157430. 2

878270157431. 3

878270157432. 4

Question Number : 99 Question Id : 87827040077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following makes a distinction between common intention and similar intention :
(A) Mahabub Shah v. Emperor (1943)

(B) Barendra Kumar Ghosh v. Emperor (1925)

(C) Jagmohan Singh v. State of UP (1973)

(D) Balwant Singh v. State of Punjab (199)

(E) Badri v. State of Rajasthan (1995)

Choose the correct answer from the options given below :

(1) (A), (B) Only

(@) (A) Only

() (B) Only

(4) (), ©) D) (E) Only
Options :
878270157433. 1
878270157434. 2
878270157435. 3

878270157436. 4

Question Number : 99 Question Id : 87827040077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fefefed # 9 forg Ael # 9T SeE’ a9 qeE ST o s S R T ?
(A) WEdd Y M I (1945)

(B) WNE FHR B T TR (1925)

(C) AT faE oM 3.9, 9 (1973)

(D) e THE W IS 159 (1995)

(E) TS I TSR T4 (1995)

4 e o formel  § R ST T F
(1) % (A), (B)

(2) e (A)

(3) %A (B)

(4) 9= (B), (C), (D), (B)

Options :

878270157433. 1
878270157434. 2
878270157435. 3

878270157436. 4

Question Number : 100 Question Id : 87827040078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following statements relating to death penalty :
A) Death sentence follows deterrence theory

B) The Parliament of India wants to remove death sentence

(
(
(C) Recentamendments in IPC and other proposals have added new offences with death sentence
(D) The parliament wants harsh punishment for heinous offences through capital punishment
(

E)  Alter rarest of the rare doctrine the number of capital punishment is reduced
Choose the correct answer from the options given below :

() (4) (©) (D), (E) Only

@ (A)6) 0 0)E)
() (4) ), (©) (D) Only
4 @) 0) [ Only
Options:
878270157437. 1
878270157438. 2
878270157439. 3

878270157440. 4

Question Number : 100 Question Id : 87827040078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1) 9 (4), ) (D), @)

)

) (4),(B) (©) D), ()
) % (A), (8), ), (D)
)

4) % (8), (D), (B

(
2
(3
(
Options :
878270157437. 1
878270157438. 2
878270157439. 3

878270157440. 4

Question Number : 101 Question Id : 87827040079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The following Articles in the Indian Constitution deal with protection of Environment and /or
places :
(A) Art.51A(g)

(B) Art. 40

(C) Art. 48 A

(D) Art. 51 A ()

(E) Art 49

Choose the correct answer from the options given below :
(1) (A), (C) and () Only

(2) (A), (B) and (C) Only

(3) (C), (D) and (E) Only

4) (A), (C) and (D) Only

Options:

878270157441.1
878270157442. 2
878270157443. 3

878270157444. 4

Question Number : 101 Question Id : 87827040079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R Hfaum 1 Frefefad s TateR qgysiEt T S gee  eftE 82
(A) SFT®I51F (D)
(B) =R 40
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Options :

878270157441.1
878270157442. 2
878270157443. 3

878270157444. 4

Question Number : 102 Question Id : 87827040080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In respect of which of the following items India does not have legislations to specifically cover
them as Intellectual property.

(A) Traditional Knowledge
(B) Street Art

(C) Publicity Right
(D) Celebrity Right

(E) Computer Programme

Choose the correct answer from the Uptinns given below :

(1) () (0) and (E) Only

() (C), (D) and (E) Only
() (A), (B), (C) and (D) Only
(4) (B), (C), (D) and (E) Only
Options:

878270157445. 1
878270157446. 2
878270157447. 3

878270157448. 4

Question Number : 102 Question Id : 87827040080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



foeferfin o & fo Ao (smem) 3 el o e o fofore v § 5% aifiges v 3 oferfa e 1 &
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(A) WA IR

A feu T fomredt § @ W8 S A T F
F% (B), (D) 3 (E)

Options:

878270157445. 1
878270157446. 2
878270157447.3

878270157448. 4

Question Number : 103 Question Id : 87827040081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is part of first generation of Human Rights ?
(A) Right to Social Security

(B) Right to Liberty

(C) Equality Before Law

(D) Right to Self determination

(E) Right to life

Choose the correct answer from the options gvr:n below :

(1) (A), (B), (D) Only
(2)  (B), (©), (E) Only
(3)  (©), (D) (E) Only
(4) (A), (C), (E) Only
Options:

878270157449. 1
878270157450. 2
878270157451. 3

878270157452. 4

Question Number : 103 Question Id : 87827040081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



foreifera ® 9§ == werq Gl % WiTa SifeeR 3 W R ?
(A) TSR GI&T kT SAfEERR

(B) E&HCT I S(EHR

(C) faf o Fae o

(D) & = SAfEERT

(E) S 1 YRR

= feu 7o fawedi § 9 W& I H 99 FifA;
(1) &9 (A), (B), (D)

(2) = (B), (O), ()

(3) ad (), (D), (E)

(4) &4 (A), (O), (B)

Options :

878270157449. 1

878270157450. 2

878270157451. 3

878270157452. 4

Question Number : 104 Question Id : 87827040082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the followmg provisions in the Information Teclmolog y Act, 2000 prescribe punislmwnt
for offences :

(A) Section 6
(B) Section 66 D

(C) Section 67 B

(D) Section 52

(E) Section 62

Choose the correct answer from the options given below :
() (4) () (C) Only

() (C), (D), (E) Only
() (B), (C), (E) Only
() (A), (B), (D) Only
Options :

878270157453. 1
878270157454. 2
878270157455. 3

878270157456. 4

Question Number : 104 Question Id : 87827040082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A) ST 65

(B) M 664
(C) M 67@

(D) 152

(E) T 62
ﬁ%ﬁqwﬁ%@iﬁﬁaﬁmwwmz
(1) @ (A), (B) (O

(@ 99 (C), (D) (E)

(3 % (B), (C), ()

(4) 9 (A), (B), (D)

Options :

878270157453. 1
878270157454. 2
878270157455. 3

878270157456. 4

Question Number : 105 Question Id : 87827040083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements given below are correct ?

(A) “Awrong is an act contrary to the rule of right and justice”

(B) “A moral or natural wrong is an act which is morally or naturally wrong being contrary to
the rule of natural justice”

(C) Alegal wrong is an act which is legally wrong, being contrary to the rule of legal justice and
a violation of the law

(D) A legal wrong is always a moral wrong and a moral wrong is always a legal wrong

(E) Natural and legal wrongs cannot form intersecting circles

Choose the correct answer from the options giuen below :

(1) (A), (B)and (C) Only

() (A), (D) and (E) Only
(3) (B), (C) and (D) Only
(4) (B, (D) and (E) Only
Options :

878270157457. 1
878270157458. 2
878270157459. 3

878270157460. 4

Question Number : 105 Question Id : 87827040083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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T A 2
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(1) o (A), (B) 3 (O

) % (4), () 4T (E)

3) e (B), (C) ¥ (D)

)

Options:

878270157457. 1
878270157458. 2
878270157459. 3

878270157460. 4

Question Number : 106 Question Id : 87827040084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements in relation to the dissenting judgment of Dr. Radha Vinodpal in
the Tokyo Trial can be correctly atiributed to him ?

A) War is beyond the scope of International law

B) Conduct of war is within the scope of the rules of International law

(

(

(C) The Pact of Paris brought about no change in the status of war

(D) International law has developed so much so as to make war a crime
(

E)  Conspiracy is an independent crime under International law

Choose the correct answer from the options given below :
(1) () (8 and (C) Only

(2) (C), (D) and (E) Only

B) (B), (0) and (E) Only

(4)  (A), (B) and (D) Only

Options :

878270157461. 1

878270157462. 2

878270157463. 3

878270157464. 4

Question Number : 106 Question Id : 87827040084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157461. 1
878270157462. 2
878270157463. 3

878270157464. 4

Question Number : 107 Question Id : 87827040085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Neuremberg Trial classified the crimes punjshable under International law into the categories
of ;

(A) Genocide

(B

(C) Crimes against peace
(

(

e

Crimes against women and children

D) War crimes

E) Crimes against humanity

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only

() (8), () and (D) Only
(3 (C), (D) and (E) Only
() (A) (B)and (D) Only
Options :

878270157465. 1
878270157466. 2
878270157467. 3

878270157468. 4

Question Number : 107 Question Id : 87827040085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) 7§ oy
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Options :

878270157465. 1
878270157466. 2
878270157467.3

878270157468. 4

Question Number : 108 Question Id : 87827040086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the [U]lewing statements are correct ?
(A) InS.S. Lotus case , the Permanent Court of International Justice (PCIJ) defined International
Law as ”prineiples which are in force between all independent nations”

(B) Professor Dias suggests that International law can never be called a ‘Law’

(C) Lord Halsbury, when he was the Prime Minister of England, once remarked, “It was a
misnomet fo call international law as ‘Law’. It should be better described as a branch of
ethics”

(D) Russel has defined International Law as “the aggregate of the rules to which the nations
have agreed to conform to their conduct towards one another”

(E)  According to Austin, International law is set and enforced by political sovereign authority
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A),(C) and (D) Only
() (®) (C)and (B Only
4 (8) 0)and (B)Only
Options :
8782701574609. 1
878270157470. 2
878270157471. 3

878270157472. 4

Question Number : 108 Question Id : 87827040086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) ¥ (A), (C) 4 (D)

(3) % (B) (C) 4R (B

(4) ad (B), (D) 3 (E)

Options:

878270157469. 1
878270157470. 2
878270157471.3

878270157472. 4

Question Number : 109 Question Id : 87827040087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:’\ccurdjng to Austin’s definition of nwnership, the attributes of nwnership are :
Indefinite user

B) Plenary control over an object

D) Bundle of rights
E)  Unlimited duration

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(

(
(
(C) Unrestricted disposition
(
(

@ () D)and (B) Orly
(3) (A), (C) and (D) Only
(4) (A), (B) and (D) Only

Options:

878270157473. 1
878270157474. 2
878270157475. 3

878270157476. 4

Question Number : 109 Question Id : 87827040087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) =g WU
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(3) e (A), (O) 3R (D)
)

(4) e (A), (B) SR (D)

Options :

878270157473. 1
878270157474. 2
878270157475. 3

878270157476. 4

Question Number : 110 Question Id : 87827040088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Art. 19 of the Constitution of India is automatically suspended if the proclamation of Emergency is
declared on the ground of :

(A} War

(B) External aggression

(C) Armed rebellion

(D) Failure of Constitutional machinery in the state

Choose the correct answer from the options given below :

() () () Only

) (A),(8)and (O Only
(3) (A),(B), (C) and (D)
(4) (A), (C) and (D) Only



Options :

878270157477. 1
878270157478. 2
878270157479. 3

878270157480. 4

Question Number : 110 Question Id : 87827040088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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() (4), (C) O
Options:
878270157477. 1
878270157478. 2
878270157479. 3

878270157480. 4

Question Number : 111 Question Id : 87827040089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Fundamental Duties in the Constitution of India under Article 51 A :
(A) can be enforced by the Supreme Court

(B) can be used by the Supreme Court in interpretation
(C) can be amended by the States
(D) has been amended by the Parliament only once

Choose the correct answer from the options g‘iven below :

(1) (B), (D) Only

(2)  (A), (B), (D) Only
(3) (), (O (D) Only
(4 (A), (B), (C) Only

Options :

878270157481. 1
878270157482. 2
878270157483. 3

878270157484. 4

Question Number : 111 Question Id : 87827040089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157481. 1
878270157482. 2
878270157483. 3
878270157484. 4

Question Number : 112 Question Id : 87827040090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Art, 163 of the Constitution of India says that there shall be Council of Minister along with
Chief Minister to aid and advise the Governor in exercise of his functions except so far he is required
by the Constitution to exercise his functions or any of them in his discretion. Under what
crcumstances Governor can be called to exercise his discretion ?
(A) Appointment of Chief Minister
(B) Dismissal of ministry or Dissolution of Assembly
(C) Submiting report to President for proclamation under Art. 356
(D) Appointment of High Court judges
Choose the correct answer from the options given below :
(1) (A), (B), (C) Only
, (C), (D) Only
D), (C), (A) Only
)

(
()
(@ (D) (A), (B) Only

(b)

(
A
Options:
878270157485. 1
878270157486. 2
878270157487.3

878270157488. 4

Question Number : 112 Question Id : 87827040090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157485. 1
878270157486. 2
878270157487.3

878270157488. 4

Question Number : 113 Question Id : 87827040091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Art, 28 of the Constitution of India mentions four types of educational institution given below. In
which of the Iollowmg institutions 1ehgmus instruction can be mealled with the consent of
individual or otherwise :

(A) Institution wholly maintained by the state

(B) Institution recognised by the state

(C) Institution that receive aid out of state fund

(D) Institution that are administered by the state but established under any trust or endowment

Choose the correct answer from the oplinns giwen below :

(1) (4), (8) (©) Only
, (C), (D) Only

(B)
(4), (), (D) Only
(

(
()
(4 (A), (B), (D) Only

J
Options:

878270157489. 1
878270157490. 2
878270157491. 3

878270157492. 4

Question Number : 113 Question Id : 87827040091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A o eI o 7% 26 Al U U Aegfire et o =R e o St ¢ | el o e
T St 1 WEwta § e e o e & 1 W £

(A) T4 ZR U fe e

(B) T FRI A 9T e

(C) een o w3 a1 iy & e (SF9) T 2

(D) e S 54 g YO  foe ol = 1 S o cAef SR e
%Wwﬁ&ﬁﬂﬁaﬂmwwﬁm

|
2
3

4
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2
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(

Options :

878270157489. 1
878270157490. 2
878270157491. 3

878270157492. 4

Question Number : 114 Question Id : 87827040092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Section 7 of the Hindu Marriage Act, 1955 provides that a Hindu marriage may be solemnized in

accordance with the customary rites and ceremonies of either party thereto. Consider the following

situations and decide in which case the marriage is validly solemnized ?

(A) At the time of marriage all essential shastric ceremonies are performed

(B) At the time of marriage all customary rites and ceremonies of bride’s family are performed

(C) At the time of marriage half of the ceremonies of bride’s family and other half of the
bridegroom’s family are performed

(D) Bride and bridegroom decided to perform the simple ceremonies of exchange of rings

(E) Bride and bridegroom started living together as husband and wife without performing any
ceremony

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (A), (B) and (C) Only

() (8), (€) and (D) Only

(4) (8), (C), (D) and (E) Only

Options:

878270157493. 1

878270157494. 2

878270157495. 3

878270157496. 4

Question Number : 114 Question Id : 87827040092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fe foere arfufm, 1955 31 o0 7% Sy & ff fe orome e el o sofantel & om0 forn
T A G et oft v v o iR  amfer fov | Feer feefe o ferm o ok fof
Fite fo o g i foare fefem: 5= fopn < 21

(A) T % H T V- FHARTE ST o S €

B) foa % W Y & F2wl F 4eft wfema Gfeell o e W v o £

C) fore % WA o) e oy % WYam 3 SR oM S R v F vftam F Ho fop o €
D) % &R 394 7 Sl 1 ARH-ToH F He el T SAfor o o org fe |

E) @y &R a0 fort forel s o & ofo-To0 9 @ e T o o fem

A fou o fomredl § @ W@ S T

(1) I (A) R (B)

(
(
(
(

Options:

878270157493. 1
878270157494. 2
878270157495. 3

878270157496. 4

Question Number : 115 Question Id : 87827040093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Under the Hindu Marriage Act, 1925 sapinda relationship and degrees of prohibited relationship
include relationship by :

(A) Full, Half and Uterine blood

(B) Adoption

(C) Legitimate blood

(D)  Fosterage relations

(E) Ilegitimate blood relations

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

() (A) () (C)and (B Orly

(3) (B), (C), (D) and (E) Only

) (4)(C) (D) and (B) Only

Options :

878270157497. 1

878270157498. 2

878270157499. 3

878270157500. 4

Question Number : 115 Question Id : 87827040093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fe foame wfifram, 19% % onfim oftfer v ik fifirg w1t o & ferifrs w onerfia iy
wfmfer & :
(A) TR TR/ SR W T (', B WS R v

A feu T fomredt § @ W8 S A T F
# (A), (B), (C) 4 (D)
)

Options:

878270157497. 1
878270157498. 2
878270157499. 3

878270157500. 4

Question Number : 116 Question Id : 87827040094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List-1 List - II

Enactment Year
(A) The Civil Rights Act () 1955
(B) The Probation of offenders Act (I)y 1956
(C) The Immoral Traffic (Prevention) Act (III) 1958
(D) The Medical Termination of Pregnancy Act (IV) 1971

Choose the correct answer from the options g'wen below :

(1) (A1), (B)-1V), (C)-{IH} (D)-(0)
(2) (A, (B)-(I), (CH(IV), (D)-(II)
(3)  (AD), (B)-(II), (C}-(IT), (D)-(IV)
(4)  (A)(ID), (B)-(IV), (C)-(), (D)-(1I)
Options :

878270157501. 1
878270157502. 2
878270157503. 3

878270157504. 4

Question Number : 116 Question Id : 87827040094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gat-1 § Gt-11 1 e i

Tt-1 81|

aferfre= EL|
(A) Tofaa afverr eTfafram () 1955
(B)  sTureft uftelten sAfufam (I) 1956
(C) Ffaer =R (fHaro) sifufaw (I) 1958
(D) W 1 Taferca aE stfufTas (IV) 1971

A feu U fasredi # 9 W@t S F =4 HIFS;
(1) (A)-(ID), (B)-(IV), (C)-(1L1), (D)-(I)

(2)  (AD), (By-(III), (C-(IV), (D)-(I)

(3)  (A)-(D), (B)-(II), (O)-(I), (D)-(IV)

(4)  (A)-(D), (B)-(IV), (O)-(1), (D)-(L)
Options :

878270157501. 1

878270157502. 2

878270157503. 3

878270157504. 4

Question Number : 117 Question Id : 87827040095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.
List - I List - II
Case Year of Reporting
(A) Hussainara Khatoon v. State of Bihar (I) 1981
(B) Kadra Phadia v. State of Bihar (II) 1980
(C) M. H. Hoskot v. State of Maharashtra (IIT) 1979
(D) Khatri v. State of Bihar (IV) 1978

Choose the correct answer from the options g'wen below :

=)

(1) (A, (B)-(D), (CH(I), (D)-(V)
(2 (AHIV), (B)-(L), (CH(1D), (D)-(0)
@3) (A1), (B}I), (C)-(I), (D)-(IV)
(4)  (A)I), (B)-(1), (C)-(1V), (D)-(0)
Options :

878270157505. 1
878270157506. 2
878270157507. 3

878270157508. 4

Question Number : 117 Question Id : 87827040095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geil-1 9 GEi-11 1 fAerH kit

Tel-1 -1
TRt frarféar ot
(A) THIR @A a9 foer T () 1981
(B) =Y Ffedl s fagr T4 (I) 1980
(C) TH.UH. 8he I WRRE T (1) 1979
(D) It 9 fasr T4 (IV) 1978

A=t feu o fosredi | | W& ST 1 = i
(1) (A, (B)-(I), (O-(ID), (D)-(IV)

(2)  (A)-IV), (B)-(II), (O)(1D), (D)-(I)

3) (A1), (B)-(I), (O)I), (D)-(IV)

(4) (A, (B)-(1D), (O)-(IV), (D)-(I)
Options :

878270157505. 1

878270157506. 2

878270157507. 3

878270157508. 4

Question Number : 118 Question Id : 87827040096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - 1I
UN days relating to IPR Days
and Biological diversity
(A) World Intellectual Property day (I) April 23
(B) World Book and Copyright day (II) May 22
(C) International Day for Biological diversity (L) April 21
(D) World Creativity and Innovation day (IV) April 26

Choose the correct answer from the options given below :
(1) (AHIV), (B)~(1D), (C)-(T), (D)-(II)

(2)  (A)HIV), (B)-(I), (C)-(II), (D)-(I)

() (A)-(D), (B)-(IT), (C)-(L), (D)-(IV)

(4) (A, (B)-(I), (O-(IV), (D)-(II)

Options:

878270157509. 1

878270157510. 2

878270157511. 3

878270157512. 4

Question Number : 118 Question Id : 87827040096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eit-1 9 Gell-11 1 e it
-1 -1

M3, qen Srafafaerar daielt 207, foaw feaw
(A) e dfgs Guer feag (I) o 23
(B) fova y&aer aen yfafararvei foom (I w22
(C) 3 wie fafasmr faaw (1) 31 21
(D) fova TEAIcTeRal a1 AR fgod (IV) 310 26

A<t fau U foepedi H § W@t I H TG HITAC;

(1) (A1), (B)-(ID), (O-(I), (D)-(1L)
(2)  (A)-IV), (B)(I), (C)-(I), (D))
(3) (A1), (BH(ID), (O)(II), (D)-(IV)
(4) (A1), (B)A(I), (O1V), (D)-(I)
Options :

8782701575009. 1
878270157510. 2
878270157511. 3

878270157512. 4

Question Number : 119 Question Id : 87827040097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Provision from IT Act Section
(A) Secure electronic Record (I) 16
(B) Security procedures and practices (I) 15
(C) Secure electronic signature (II) 14
(D) Attribution of electronic record (v) 11

Choose the correct answer from the options given below :
(1) (A)-(I), (B)~(I), (C)-(1D), (D)-(IV)

(2)  (A)-(D), (B)-(II), (C)-(IV), (D)-(II)

(3)  (A)-(IV), (B)-(1T), (C)-(I1L), (D)-(I)

(4)  (A)-(II), (B)~(ID), (C)-(I), (D)-(IV)

Options :

878270157513. 1

878270157514. 2

878270157515. 3

878270157516. 4

Question Number : 119 Question Id : 87827040097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
1 I

g 21, rfufam @ uraem &Y
(A) YU soraeifes fehe () 16
(B) L& Yfehal a1 Heer (I 15
(C) HUfera Zerarifeh e&ar (1) 14
(D) 3oiERie RaFE STHER (IV) 11

A= feu 7o forredl § 4 W& 3T 1 =4 il
(1) (A, (B)-(1), (O)-(II), (D)-(IV)

(2)  (A)-(D), (B)-(IIT), (C)-(IV), (D)-(IT)

(3)  (A)-(IV), (B)-(II), (C)-(11I), (D)-(D)

(4) (A, (B)~(1D), (©)-(I), (D)-(IV)
Options :

878270157513. 1

878270157514. 2

878270157515. 3

878270157516. 4

Question Number : 120 Question Id : 87827040098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 1I

Schedule Description
(A) Fifth Schedule () Languages
(B) Eight Schedule (I) Provisions of disqualification on ground of defection
(C) Tenth Schedule (IIT) Administration and control of scheduled areas and scheduled

tribe

(D) Fourth Schedule (IV) Allocation of seats in Council of States
Choose the correct answer from the options given below :
() (M1, (BH, (CHIV), (DHI)
) (M), (BH, (CHI), (DY)
B) (AXI, BH0V), (CHI, (DH)
() (AIV), (B1D), (CH1), D))
Options:
878270157517. 1
878270157518. 2
878270157519. 3

878270157520. 4

Question Number : 120 Question Id : 87827040098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-1 § Felt-11 21 e e
-1 T
g fererror

&

(A) el gl ) s

(B) eed SFg () T-Tae & SR R

(C) 5l g (II1) SgFaa &3 SR Sraa Sstiea &1 JwA SR
(D) <heft S (IV) T 991§ el &1 aed

et feu U fowed & 9 WE S A T Hife;

(1) (A)-(D), (B}-(I), (CHIV), (D)-(1I)

(2) (A, (B)-(T), (CH(ID), (D)-(IV)

() (A}, (B)-(IV), (O-(Im), (D)-(1)

(4)  (A)(IV), (B(I), (C)-(T), (D)-(I)

Options :

878270157517. 1
878270157518. 2
878270157519. 3

878270157520. 4

Question Number : 121 Question Id : 87827040099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
Case Issue/Concept/Principle
(A) Linkletter v. Walker (I)  Prospective overruling in the context of
constitutional interpretation
(B) Golak Nath v. State of Punjab (I) Right o register a “none of the above”
vote

(C) Jolly George Varghese v. Bank of Cochin  (IlI) Importation of provision from ICCPR
into [ndian Constitutional law

(D) People’s Union for Civil Liberties v. Union  (IV) Prospective overruling in the context of
of India criminal procedure

Choose the correct answer from the options given below :

(1) (AL, B)-0), (CHLV), (DH)

) (AR, (BIIV), (CHI), (D)

(1V), (BI, (G-I, (D))

A(1V), (BHD), (C)-{ILL), (DR

Options:

2
6 (A
@) (A

(A
(
9 |

S il

878270157521. 1
878270157522. 2
878270157523. 3

878270157524. 4

Question Number : 121 Question Id : 87827040099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
T 11

LLC| foera/sramoo/frgrar

(A) feleeret W At (1) wiferien samen % Ha ¥ S [
Wi T

(B) 7w 4 W T T4 () "3 o 0 e e A FA A
#feRn

(C) e Il & o i AR B () ST A A § g Gaute fafy
Y Y ) A

(D) ey gfA i fafer femfest am e 99 (IV) €2 Woran o §eof W sy Fofa o
wfawee JE

Al few T foeredl § ¥ e SR o 7 I

(1) (A, B)-(), (CHIV), (DHI)

(@ (A, (BKIV), (CHI), (DA

() (AHIV), (B)-ID), (C}-ID, (D)-(1

() (AHIV), (B-T), (CHI), D}

Options:

878270157521. 1
878270157522. 2
878270157523. 3

878270157524. 4

Question Number : 122 Question Id : 87827040100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(A) Malice in Law () Commission of an unlawful Act which are actionable per
s
(B) Malfeasance (Il) Improper performance of a lawful act
(C) Misteasance (Il) Omission to perform an act when there is obligation to
perform it
(D) Non-feasance (IV) Intentional doing of a wrongful act and improper motive

Choose the correct answer from the options giuen below :

(1) (AHIV), (BII), (CH(I), (DHID
(@ (AH), B, (CHII), D)-1V)
(3) (AR, (BHIV), (CHI), DHI)
(4) (AT, (B)-(), ©-IV), D))
Options :

878270157525. 1
878270157526. 2
878270157527. 3

878270157528. 4

Question Number : 122 Question Id : 87827040100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el 9 L 1 fire
T Tl
(A) fofer o fogy (Malice in Law) () Taf¥-foreg 5 fta #21 & o Folel & 43
(B) T (Malfeasance) (I fafy-gwm e 1 ofed Froomed
(C) T (Misfeasance)  (Ill) 7 foreht e 1 Foufee e afemel @1 f 301 A0 e
(D) & (Non-feasance) (IV) SR 0 Terd Fed 0 SR S 3679 &

7 feu T fowred § 9 8 I 1 T B
(1) (A)HIV), (BHI), (CHI), (D)

@ (A)-{1), (BRI, (CHIL), (D-(1V)

() (A, BHIV), (-1, DHI)

(4)  (AHID, BRI, ©)-IV), D))
Options:

878270157525. 1
878270157526. 2
878270157527. 3

878270157528. 4

Question Number : 123 Question Id : 87827040101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - I1.
List- I List - II
(A) Producer companies I) Do not necessarily require Memorandum of Association
(B) Statutory companies l)  Association not for profit
(C) Section 8 company ll) Formed to convert cooperative into a company
(D) Small company IV) Paid up share capital is between 50 lakh-5 crore and
turnover is between 2 crore - 20 crore
Choose the correct answer from the options given below :
() (M0, (BHI), (CH1V), (D)
() (AMI), (BHD) (CHI, (DHIV)
B (AMIV), (BHI, (CHD, (DM
) (AXI, BHV), (CHI, (DH)
Options :
878270157529. 1
878270157530. 2
878270157531. 3

878270157532. 4

Question Number : 123 Question Id : 87827040101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el & eI 1 fier Fif;
T LI

(A) EE FA () T s S A T ¢

(B) ufefim dufel () g F AR e

(C) I 18 I (1) ﬂaﬁﬁaﬁwﬁﬁwﬁaﬁﬂwmmwmﬁ%

(D) @ F (V) 5T (Afe) TR it 50 TG-5 g F o o FHam 2 Fire
0 FE % 99 T ¢

4 feu T ol o § W& S A T HC

(1) (AHD), (BHI), (CHIV), (DHII)

(@) (AM), (B, (CHL), D)-(1v)

() (AHIV), (B]I), (C)-{1), D}

() (A-, B}-IV), (C-(), D)-[)

Options :

878270157529. 1
878270157530. 2
878270157531. 3
878270157532. 4

Question Number : 124 Question Id : 87827040102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - 11
Subject Section of Indian Penal code
(A) Punishment for extortion (I)  Section 403
(B) Attempt to commit robbery (II) Section 409
(C) Dishonest misappropriation of property ~ (III) Section 384
(D) Criminal breach of trust by public servant  (IV) Section 393

Choose the correct answer from the options giv en below :
1) (AN, @M, O-1), -1V

2)  (AHI), (B, (©)-(0), (D)-{IV)
3) (A, BHIV), (CHD), (D}I)
V), (

(
(
(
(@) (4-0V), (B, (©-{), DM

(
) |
) |
Options :
878270157533. 1
878270157534. 2
878270157535. 3

878270157536. 4

Question Number : 124 Question Id : 87827040102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teft-1 9 Felt-11 1 et ifse;

-1 -1
fawa WA 4 Wi el &
(A) 9 % fou < (I) 7 403
(B) ekl N YA (I) T 409
(C) wufd o1 SEAHEY gfeifarT (II) T 384
(D) ek Horeh 5 SO = 4T (IV) 1 393
< feu v femredi # 9 B I < FIAC

(1) (A, (B)-(L), (©)-1), (D)-1V)

(2)  (A)-(I), (B)-(ID), (C)-1), (D)-(IV)

(3)  (A)-(Im), (B)(IV), (O-(1), (D)-(II)

(4)  (AHIV), (B)-(L), (O)-(1), (D)-IL)
Options :

878270157533. 1
878270157534. 2
878270157535. 3

878270157536. 4

Question Number : 125 Question Id : 87827040103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
List -1 List - II
Name of the case Subject matter
(A) Githa Hariharan v. Reserve Bank of India
(B) Sarla Mudgal v. Union of India
(C) Danial Latifi v. Union of India
(

D) Seema v. Ashwani Kumar

[)  Maintenance Rights of Muslim women
) Guardianship of a minor child

() Compulsm}f registration of marriages

(

(

(L)

(IV) Validity of second marriage of a Hindu
male after his conversion to Islam

Choose the correct answer from the options giuen below :

(1) (AR, B}V), (O, (DHI)
2 (AM1), (BHI), (CHIm), (D)

{ (
() (AR, B}-1V), (), D))
( (

(A
(A
1) (AHIV), (BHID), (OA{LD), (D))

-
A)-
Options :
878270157537. 1
878270157538. 2
878270157539. 3

878270157540. 4

Question Number : 125 Question Id : 87827040103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el & eI 1 fier Fif;
T Tl

U ol AW form &g
(A) T B oW s e % (1) e wfeasl A e e S
(B) ¥ R Y G T (Il) ST AT a1 ST &
(C) SHael Tl oW R T ([D) foee o At
(D) ¥ T S FAR (V) T oW o e o1 3% ¢ W YRt g o o fgita
foare 1 oy e
e feu T fomred © @ W S T e
(1) (AHI), (B}-V), (C1D), (DHII)
(@ (AHD), (B)(I), (CHII), (D)-V)
() (AHI), (B-V), (C-(ID, (D)
() (AHIV), (B)-{), (CHID, (D}
Options:

878270157537. 1
878270157538. 2
878270157539. 3

878270157540. 4

Question Number : 126 Question Id : 87827040104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the names of the following jurists in terms of chronological order of their birth :
A) Jeremy Bentham

(
(B) John Austin
(C) Sir Henry Maine
(D) Hans Kelson
(E) Immanuel Kant

Choose the correct answer from the options given below :
(1) (A) (B), ©), D) £
@) (), (A), ), ©) D)

() (A) (), ©) () D)
(4) (D), (E) (B), (A), (C
Options:
878270157541. 1
878270157542. 2
878270157543. 3

878270157544. 4

Question Number : 126 Question Id : 87827040104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freifera =raferc] =61 3ok S o YR UT FTeishH T SHafid it |
(A) ST S

(B) S A

(C) T

(D) 9 FHeHT

() FH=A Hie

= fau mu fasredl § 9 W& SWY 1 99 Fifo
(1) (A), (B), ©), (D), (E)

(2) (E) (A), B), (©), (D)

(3)  (A), (B), (©), (), (D)

4) (D), (B), (B), (A) (©



Options :

878270157541. 1
878270157542. 2
878270157543. 3
878270157544. 4

Question Number : 127 Question Id : 87827040105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fo]lnwing in the chrolmlogical order of its sequence in the Patents Act :

(

(B)

(C) Date of patent
(

(

A) Consequence of secrecy directions
Grant of patent

D) Term of patent

E) Rights of patentee

Choose the correct answer from the options given below :

() (© (€ B) D) A

)
(2) () (C) (E) (D), (A)
() (A), (B), (), (), D)
(4) (), (B). (D), (A) (©)

Options:

878270157545. 1
878270157546. 2
878270157547. 3

878270157548. 4

Question Number : 127 Question Id : 87827040105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Yoz srfufrm, 1970 &% deyf # frefafea =1 FramEis F9 § e |
(A) T freul & dfom

(B) UeZ YTH FHEI

(C) U =i fafy

(D) YéZ =1 I

(E) UeeeHdl o SifEER

e feu U foeredl # 9 W ST 1 =99 FIN

(1) (©), (B), (B), (D), (A)
(2 (B), (O (E) (D), (A)
(3)  (A), (B), (O), (B), (D)
4)  (B), (B) (D), (A), (C)
Options:

878270157545. 1
878270157546. 2
878270157547. 3

878270157548. 4

Question Number : 128 Question Id : 87827040106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following cases in the sequence in which they were decided :
(A) Gloucester Grammar School Case

(B) Donoghue v. Stevenson Case
(C) Ashby v. White Case
(D) Rylands v. Fletcher Case

Choose the correct answer from the Dptiuns given below :

(1) (A) (©), (D) (B)

(2 (B),(©). (D), (A)
(3) (©), (D), B), (A)
4) B, (4), D) ©

Options :



878270157549. 1
878270157550. 2
878270157551. 3

878270157552. 4

Question Number : 128 Question Id : 87827040106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feretifere amel (i) 1 S Fofa €9 & anem W oFn o orafierd Fife |
(A) TIHET UM A Y

(B) S W 4T 4

(C) Ty S ®IEE FY

(D) AE FAM R Y

A= fou U fasmredi # ¥ W& I H =TI HIE0

Options :

878270157549. 1
878270157550. 2
878270157551. 3
878270157552. 4

Question Number : 129 Question Id : 87827040107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange following cases in sequence of year they were decided :

(A) Ashbyry Rly Carriage Co. Ltd. v. Riche

(B) Royal British Bank v. Turquand

(C) Mohori Bibee v. Dharmodas Ghose

(D) State Trading Corporation of India Ltd. v. CTO, Vishakhaptnam
(E) Salomon v. Salomon Co. Ltd.

Choose the correct answer from the Dptinns given below :

1) (B, (A), ), ©), D)

(2)  (A) (B), (©), (E), D)
() (©) (D) (A), (B) (E)
(4)  (B), (C), (E), (A), (D)

Options:

878270157553. 1
878270157554. 2
878270157555. 3
878270157556. 4

Question Number : 129 Question Id : 87827040107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafaa are 1 39 g 9d & SOR 0 § saafd &1 |
(A) 3adl Tord BRes &, fa, s m

(B) e fafew S oM qoks

(C) el sl s e =y

(D) WA w2 2fET wRary™ s+=m 91231, favmageay
(E) WICHE ™ G o, o

(L) (B), (A), (E), Q) (D)
2 (A) (B), (O, (E), (D)
(3)  (©, (D) (A), (B), (E)
4) (), (O (E) (A), (D)



Options :

878270157553. 1
878270157554. 2
878270157555. 3

878270157556. 4

Question Number : 130 Question Id : 87827040108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange in chronological order the insertion of the following provisions in the Indian Penal Code :
(A) Section 124A
(B) Section 153A
(C) Section 120A
(D) Section 304B

Choose the correct answer from the options given below :

() @) ®), () 0
@ () © @)D
() () D) () (C
@ (&) [0)(©, 6
Options:

878270157557. 1
878270157558. 2
878270157559. 3

878270157560. 4

Question Number : 130 Question Id : 87827040108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR €8 Hfeal o A Suael 1 3 ST FoRT S o SR W ey W STt F1f |

(A) HT14F

(B) W13 F

(C) T10F

(D) *WI304 %

7 fou o fowred o 9 & S A T B

(D) (A) @) (C) D)

A), (), (B), (D
(

@ @), ©),®) D)
(3) (&) 0) 6) ©
(@) (A) O (©) ®)
Options:

878270157557. 1
878270157558. 2
878270157559. 3

878270157560. 4

Question Number : 131 Question Id : 87827040109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following cases relating to advice/ direction of the Supreme Court to the State to enact
a uniform civil code in the chronological order (advice earlier to later) of their pronouncement :

(A) Mohd. Ahmed Khan v. Shah Bano Begum
B) Sarla Mudgal v. Union of India
) ABC v. State (NCT of Delhi)
D) Jorden Diengdeh v. SS. Chopra
E) John Vallamattom v. Union of India

(
(€
(
(

Choose the correct answer from the options given below :
() (A), ), O) (€, E)

(@ (8) (D) (A) (), (C
() (A), (D), ®) &) €
() (E), (D), (), () (A)

Options :



878270157561. 1
878270157562. 2
878270157563. 3

878270157564. 4

Question Number : 131 Question Id : 87827040109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T fefeen e o e S S e 3 Hefe Ml o e ( afeton § o) §
A FfoT |

(A) TR TG T oW IR o

(B) el TR SFIW YT H¥

(C) Tl S T (T T 4 feeeh)

D) Wwwwwm

(E) M SeeiMgH sHM Y T

e feu o fomredl # © WE S A T e

() () ), O) () E
2 (8), (D) (A) (E), ()
(€

(2 (E

() (A), (D), (), (B), (©)
() (E), (D) (C) (B) (4)
Options :
878270157561. 1
878270157562. 2
878270157563. 3

878270157564. 4

Question Number : 132 Question Id : 87827040110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following UN Conventions in their chronological order :
A) UN Convention on Biological Diversity

(
(B) UN Convention on Climate Change

(C) UN Convention Against Transnational Crimes

(D) UN Convention on the Rights of the Child

(E)  UN Convention on Jurisdictional Immunities of States and their property

Choose the correct answer from the op tions given below :

(1) B), (C) D), (), (A)

Options:

878270157565. 1
878270157566. 2
878270157567. 3

878270157568. 4

Question Number : 132 Question Id : 87827040110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Feife e T2 s ) Ry e H
(A) 9 fafaum Haeh 99 T S
(B) ferarg ufterH et Hge T S
(C) TRUETE TR Fash Ggad T Ay
(D) == & SRR Haell g T Al
(B) I SR STR] HOTd 61 ARG Hael Sqiaadl gaHl §9ad T2 SAvewy

el feu 0 foeredl ¥ Het SUX ol TE Hifor;
(L) (B), (C) (D), (E), (A)
() (A), (D), [E), (C), (B)
(3) (D), (B), (C), (E), (A)
4) (A), (D), ©), (B) (E)



Options :

878270157565. 1
878270157566. 2
878270157567. 3

878270157568. 4

Question Number : 133 Question Id : 87827040111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following cases decided by the Permanent Court of Arbitration in their chronological
order :
A) Muscat Dhows case

)

B) North Atlantic Fisheries case
)
)

D) Russian [ndemnity case

(
(
(C) Savarkar's case
(
(

E) The Island of Palmas case

Choose the correct answer from the options given below :
() (A) ) 0 O) B

Options :

878270157569. 1
878270157570. 2
878270157571. 3

878270157572. 4

Question Number : 133 Question Id : 87827040111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S e e gr Sfvifred feiferd wIel sl FeERITER At e ;
(A) WERE HId JeRU

(B) Il ectifesh ifcral e (T e fruds )

(C) HTERERT JeR

(D) & B foem e (T fenre )

(F) ICHH 59 JH

<l fou T foeredi W & WE SR 99 Fife

Options:

878270157569. 1
878270157570. 2
878270157571. 3
878270157572. 4

Question Number : 134 Question Id : 87827040112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order of their Enactment ;
(A) Protection of Human Rights Act

(B) National Commission for Women Act
(C) 89t Constitutional Amendment Act
(D) National Commission for Minorities Act

Choose the correct answer from the n:-ptiuns given below :

(1) (A), (D) (B), (©

2 (©) (B) (A) (D)
(3) (D), (©), (B), (A)
@) (B), (D), (A) ©

Options :



878270157573. 1
878270157574. 2
878270157575. 3

878270157576. 4

Question Number : 134 Question Id : 87827040112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frefefad 1 7% sfufaf 33 3% e § asmd |
(A) HAS ATERR F&0 AT |
(B) UL Hfeed ATHRT SAffTaH |
(C) 899 Hfaum e Afafad |
(D) UL eqHEH AN AT |
= fou 7o faed § § WaE SO ol 997 HiTelu;
M @), O) ®), ©
@ (©, (B) (A) (D)
(3) (D) (©) B), (A
(4) (B), (D), (A), (©)
Options :
878270157573. 1
878270157574. 2
878270157575. 3

878270157576. 4

Question Number : 135 Question Id : 87827040113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the fD]aning cases in sequence of their year of verdict :
(A) Kesavananda Bharti v. State of Kerala

(B) Sankari Prasad v. Union of India

(C) Golak Nath v. State of Punjab

(D) Sajjan Singh v. State of Rajasthan

Choose the correct answer from the options given below :
(1) (B) (D) Q) (A)

2 (A (B) (©), (D)

(©), (D), (B), (A

(3) )
@) (@A) D) (B) (©)
Options:

878270157577. 1
878270157578. 2
878270157579. 3

878270157580. 4

Question Number : 135 Question Id : 87827040113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feerifere fofai (o) ot e fofa o & e W ey o st S
(A) HEFE YR T A T

(B) R FHIS SFM WA T

(C) e MY AW T T4

(D) s e M TN T

9 feu U foered § | WE $9Y 1 =9 FHifu;

1) (). (D). ©) (4)

Options :

878270157577. 1



878270157578. 2
878270157579. 3

878270157580. 4

Question Number : 136 Question Id : 87827040114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Highly developed legal systems strive to create an autonomous apparatus of legal
concepts, legal techniques, and legal norms

Reason (R):  Law needs to be endowed with logical consistency, predictability and stability

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
,)

3
4

Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(
(
(

)

) (A) is correct but (R) is not correct
) (A) is not correct but (R) is correct
Options :

878270157581. 1
878270157582. 2
878270157583. 3
878270157584. 4

Question Number : 136 Question Id : 87827040114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 & T fou € e oo (A) % w0 A feffg € 1 g S RO (R) § w9 A
e (A) ;o o i fafers womer o fafires weveamat, fofer ot &R faft: wfomi

1 W T 39 R T 1 T fo o & |
FOR):  fofes o e we, YaRE o e et N ) e g
T Ho o e H, el fow T e H 4 W S 7

(1) @ (A) 3R (R) T ¢ 8T (R), (A) %I 98 e &

(2) T (A) ¥ (R) 9 € i (R), (A) F1 Fe A T ¢
() (A)¥ ¢, ©ife (R) 7964 8

(4) (A) % & TR (R) 59 €

Options:

878270157581. 1

878270157582. 2

878270157583. 3

878270157584. 4

Question Number : 137 Question Id : 87827040115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Trade Secrets Act, 2020 is a legislation enacted in India to provide for confidential
informations and trade secrets

Reason (R) :  India hasenacted a number of legislations to create legal framework on intellectual
property rights (IPRs)

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3)  (A) is correct but (R) is not correct

(

4)  (A) is not correct but (R) is correct

Options :



878270157585. 1
878270157586. 2
878270157587. 3

878270157588. 4

Question Number : 137 Question Id : 87827040115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1% 9 o fou 0§ v e (A) % &9 9 foffa € 9 T 39 RO (R) F w9 A T

AR (A) :  FR T st 2020 owe § et o faum & S e e A
TR, T SUered 0 |

FAOT(R): ST A e e R ga fofter g giea e o fon s i it
Ekd

I F & e B, 79 fou o fased § 9 W I T S

(1) @ (A) 3R (R) 97 & 3R (R), (A) %I 56 =00 &

(2) S (A) HR (R) §e & CifeA (R), (A) H T A T

(3) (A) W & A (R) 5970 &

(4) (A) 3 ¢ oIfA (R) 59 €

Options :

878270157585. 1
878270157586. 2
878270157587.3

878270157588. 4

Question Number : 138 Question Id : 87827040116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The tests of proportionality, necessity and balancing are found at prominent places

in the GATS, the GATT as well as in the SPS and TBT Agreements
Reason (R):  The meaning of these tests and their interrelationship is not always clear

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:

878270157589. 1

878270157590. 2

878270157591. 3

878270157592. 4

Question Number : 138 Question Id : 87827040116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 & o few 0 € e e (A) % 0 A feffi € 1 g S SO (R) F B A €

AT (A) : ST, STVl R WqeH & WOam 9 (GATS), T2 (GATT) & T4 T
YT (SPS) 4R ZHtel (TBT) 0 § T7@ ¥ H 394 2|

FOTR): 3 T % S SR T S5 Hed TR ] a6

TR Ho o e , el fou T ferert # 4 W S 7

(1) @ (A) 3R (R) T ¢ T (R), (A) %I T8 =2 &

() T (A) R (R) T & A (R), (A) F 98 SR T

(3) (A)®d g o (R) 59 &

(4) (A) 35 & W (R) ¥ &

Options :

878270157589. 1



878270157590. 2
878270157591. 3

878270157592. 4

Question Number : 139 Question Id : 87827040117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  The doctrine of stare decisis has essentially developed as a result of progress made
in law-reporting

Statement (II) : Since the law in India is mostly based on the English Law, the system of law
reporting is fairly developed in India

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
,)

o
(3
(

4)  Statement I is incorrect but Statement Il is correct

Both Statement I and Statement II are incorrect

)
) Statement I is correct but Statement II is incorrect

Options :

878270157593. 1
878270157594. 2
878270157595. 3

878270157596. 4

Question Number : 139 Question Id : 87827040117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fﬁﬁﬂ@ﬂﬁ'@ﬂ%‘:

T (): TR TR el o v (o ) § g i & v
it

T (1) : fF 9 W ot sffeerve: S fafy W anefta & o § fafv-viee (af fafén)
el foreefi 540 €|

TG o & e H, A fow o foere # 4 W g T A

(1) RIS eI 9 %

() FRIIMFW T 959 ¢

(3) U 1T ¢, Wi R I 590 ¢

(4) U1 A &, A FHA &

Options:

878270157593. 1
878270157594. 2
878270157595. 3

878270157596. 4

Question Number : 140 Question Id : 87827040118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Mahr (dower) is a sum of money which the Muslim husband agrees to pay to the
wife asa mark of respect for her for agreeing tomarry him. Since Muslim marriage
is a contract, it is necessary that dower must be specified at the time of marriage
and if it is not specified it can be presumed.

Reason (R):  If not paid earlier, Mahr become due on death of the husband or the dissolution
of marriage by divorce

In the light of the above statements, choose the most appropriate answer from the options given

below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270157597. 1

878270157598. 2

878270157599. 3

878270157600. 4

Question Number : 140 Question Id : 87827040118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 2 o few 0 €. v e (A) % w9 ¥ forf € 9 S 30 WO (R) F E9 A

AR (A): WX T S & o pfeem ofe ol oo B S o A W et <1 % o
3 AR § e 0 fere o A ¢ 1 i e foare wfaq € 7% v &
fop fome o e Wt aifvaede; foffde @ o aft 7% fofvfde 7 & € @ ol
ufeaf =1 S9N # 1 Fekd & |

FOR): AR T GeE A @69 A g R e foa fee & A faeg @
AT & 3 & JR 2 @ I g

IR FH F e B, A fou - foered § @ w@ S 9 #ife

(1) < (A) 1 (R) 74 & 4R (R), (A) 1 & oA &

() @ (A) 4R (R) T & A (R), (A) P 5 R T &

() (A)W T, Wl (R) 59 §

(4) (A) %9 ¢ A (R) T 2

Options :

878270157597. 1

878270157598. 2

878270157599. 3

878270157600. 4

Sub-Section Number : 2
Sub-Section Id : 8782701681
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827040119 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following passage and answer the questions :

In India, the protection and enforcement of human rights confined to “Civil and Political Rights®
in the form of “Fundamental Rights” (Part Ill) and “Economic, Social and Cultural Rights” in the form
of “Directive Principles” (Part IV) in the Constitution of India discusses the vision of the Constitution
and its framers of the kind of society they aspired to establish in the country. The framers of the
Constitution were quite clear in assingning an equal role to each and every individual in the political
process and decision making. Not only did they provide for universal adult suffrage but they also
provide for affirmative steps in the form of seats allocation or reservation in election bodies for those
incapable of competing in political process on equal footing. For effective participation in that process as
well as for leading a dignified life, which they did not want to leave to the political process alone or
postpone for the future, they also provided for Fundamental Rights and Directive principles, which
have been distinguished as the conscience of the Constitution, and harmony and balance between them,
have been found to be among the basic feature to the Constitution. Part IV A of the Constitution of India
title “Fundamental duties” (Article 51 A) provides that every citizen must do his duty towards the
nation as well as the fellow citizens.

Sub questions

Question Number : 141 Question Id : 87827040120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which Part of the Constitution of India discusses the vision of the Constitution and its framers as
to which kind of society they aspired to establish in the country ?

() Artdl A

(2) PartIll and part IV

(3) Part IV Only

(4)  Part dealing with affirmative steps
Options :

878270157601. 1
878270157602. 2
878270157603. 3

878270157604. 4

Question Number : 142 Question Id : 87827040121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The notion that every citizen must do his duty towards the nation as well as the fellow citizen is
incorporated in the Indian Constitution in

(1) Partll

(2) PartIV

(3) PartlVA

(4) Preamble
Options :
878270157605. 1
878270157606. 2
878270157607. 3

878270157608. 4

Question Number : 143 Question Id : 87827040122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is part of the basic feature of the Constitution ?
(1) Fundamental Duties

(2) Directive policies
(3) Political process and decision making
(4) Harmony and balance between Part Il and Part [V

Options :

878270157609. 1
878270157610. 2
878270157611.3

878270157612. 4

Question Number : 144 Question Id : 87827040123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which is distinguished as the ‘Conscience’ of the Constitution ?
(1) Fundamental Duties

(2) Preamble

(3

) Universal adult suffrage
(4) Fundamental Rights and Directive Principles

Options:

878270157613. 1
878270157614. 2
878270157615. 3

878270157616. 4

Question Number : 145 Question Id : 87827040124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The protection and enforcement of Human Rights under Article 32 is confined in India to :
(I) Fundamental Rights

o
(3) Fundamental Duties
(4)  Right to Vote

Economic, Social and Cultural Righls

Options :

878270157617. 1
878270157618. 2
878270157619. 3

878270157620. 4

Question Id : 87827040119 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827040120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157601. 1

878270157602. 2

878270157603. 3



878270157604. 4

Question Number : 142 Question Id : 87827040121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270157605. 1
878270157606. 2
878270157607. 3

878270157608. 4

Question Number : 143 Question Id : 87827040122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TR S WA qaE 9 SR YAl o IW S |
frefafiaa @ #F diaum F 9o g &1 fewm 272
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Options:

8782701576009. 1



878270157610. 2
878270157611. 3

878270157612. 4

Question Number : 144 Question Id : 87827040123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157613. 1
878270157614. 2
878270157615. 3

878270157616. 4

Question Number : 145 Question Id : 87827040124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157617. 1
878270157618. 2
878270157619. 3
878270157620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701682
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827040125 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the passage carefully and answer the following questions :

This is the greatest paradox involved in the doctrine of ‘basic features’, namely, that though it does
not constitute a limitation on the legislature while enacting ordinary legislation, it would operate as a
limitation on theConstituent’ body, though in the same breath it is conceded that the latter isa "Sovereign’
authority while the Legislature is not. This means that while determining the validity of an ordinary
law, the court can only look into the express provisions of the Constitution or the necessary implications
thereof, but when the validity of a Constitution Amendment Act is challenged, the court may travel
behind or beyond the express provisions of the Constitution to invoke some principles superior to express
provisions to find whether the impunged amendment is in tune with those principles, which are supposed
to Constitute the ‘norm’ behind the specific provisions of the Constitution. In short, it involve an illogical
attempt to usher in the doctrines of ‘Spirit of the Constitution’ or of ‘natural law’, through the backdoor,
to circumscribe the Constitution itsell, while it had been openly rejected as a limitation upon ordinary
legislation.

Sub questions

Question Number : 146 Question Id : 87827040126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What does the author consider to be the doctrine used to circumscribe the Constitution ?
(I)  Doctrine of “Spirit of the constitution” and “natural law’

(2)  Doctrine of "basic structure’ and of ‘grund norm’

(3)  Doclrine of ‘basic features’ and of “ultra vires’

(4)  Doctrine of ‘Constituent body” and of "Sovereign authority’

Options:

878270157621. 1

878270157622. 2

878270157623. 3

878270157624. 4

Question Number : 147 Question Id : 87827040127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What does the author identify as the greatest paradox involved in the doctrine of basic features ?

(I) The doctrine does not constitute a limitation on the power of the Parliament, but limits the
state legislatures

(2)  The doctrine ushers in the concept of natural law through the backdoors, while the judiciary
get a free run

(3)  The doctrine operates as a limitation on the constituent body as well as legislature when
enacting ordinary legislation

(4) The doctrine does not constitute a limitation on the legislature while enacting ordinary
legislation but operates as a limitation on the Constituent body though the Constituent bndv
is a sovereign authority while the legislature is not

Options :

878270157625. 1

878270157626. 2

878270157627.3

878270157628. 4

Question Number : 148 Question Id : 87827040128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following options reflect the opinion of the author as can be discerned from the cited
paragraph ?

(I)  Acriticaland negative view of the way the court uses the doctrines of ‘Spirit of the Constitution’
and of 'natural law’ to circumscribe the Constitution itself

(2)  Admiration of the court’s view that legislative power need not be circumscribed

(3) Neutral view on the use of basic features by the court to limit the constituent power and the
legislative power

(4)  Positive view on the use of natural law as a limitation on the legislative power and constituent
power

Options :

878270157629. 1

878270157630. 2

878270157631. 3

878270157632. 4

Question Number : 149 Question Id : 87827040129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

While determining the validity of an ordinary law, what can the court look into ?
(I)  The court cannot look into the express provisions of the Constitution
(2)  The court can only look into the necessary implications but not the express provisions of the

Constitution

(3)  The courtcanonly look into express provisions of the Constitution or the necessary implications
thereof

(4)  Thecourtcan only look into the express provisions of the Constitution and not the implications
thereof

Options :

878270157633. 1
878270157634. 2
878270157635. 3

878270157636. 4



Question Number : 150 Question Id : 87827040130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per the apprehension of the author, when may a court travel beyond the express provisions of
the Constitution to invoke some principles superior to the express provisions ?

(I)  While exercising the judicial power to interpret the constitution

(2)  When the court wants to assert the power of judicial review

(3) When the validity of a Constitution Amendment Act is challenged

(4)  When the validity of an ordinary legislation is challenged

Options :

878270157637. 1
878270157638. 2
878270157639. 3

878270157640. 4

Question Id : 87827040125 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions




Question Number : 146 Question Id : 87827040126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157621. 1
878270157622. 2
878270157623. 3

878270157624. 4

Question Number : 147 Question Id : 87827040127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270157625. 1

878270157626. 2



878270157627. 3
878270157628. 4

Question Number : 148 Question Id : 87827040128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157629. 1

878270157630. 2

878270157631. 3

878270157632. 4

Question Number : 149 Question Id : 87827040129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:



878270157633. 1
878270157634. 2
878270157635. 3

878270157636. 4

Question Number : 150 Question Id : 87827040130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

a2

878270157637. 1
878270157638. 2
878270157639. 3

878270157640. 4



